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1)

Sneha’s height is growing very fast and now her hand can easily reach the handle of her
long cupbeard from which she can open the cupboard very easily. Sneha’s change in
height is called

(1)  Scaffolding
(2) Growth

(3) Learning
(4) Adaptation
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[Question ID = 1][Question Description = S17_CDP_Q001]
1. 1 [Option ID = 1]
2. 2 [Option ID = 2]

3. 3 [Option ID = 3]
4. 4 [Option ID = 4]

2)
The rate of development of each child :
(1) is determined at the time of conception and environment does not play much role in
it.
(2) wunfolds in a dynamic manner through the interaction of heredity and environment.
(3) can be accurately predicted by looking at the developmental milestones.
(4) cannot be predicted at all since it happens in a random manner.
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[Question ID = 2][Question Description = S17_CDP_Q002]
1. 1 [Option ID = 5]



2. 2 [Option ID = 6]
3. 3 [Option ID = 7]
4. 4 [Option ID = 8]

) In middle school, the role of family as a agency for socialization of children :

(1) becomes redundant.

(2) decreases as compared to the early childhood years.
(3) increases as compared to the early childhood years.
(4) remains as important as than in early childhood years.
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[Question ID = 3][Question Description = S17_CDP_Q003]
1. 1 [Option ID = 9]

2. 2 [Option ID = 10]

3. 3 [Option ID = 11]

4. 4 [Option ID = 12]

4)

Assertion (A) : A major criticism of Jean Piaget’s theory is the consideration that children

are active beings.

Reason (R) : Children learn through passive reception of information.

Choose the correct option.

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(3) (A)is true but (R) is false
(4) Both (A) and (R) are false
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[Question ID = 4][Question Description = S17_CDP_Q004]
1. 1 [Option ID = 13]
2. 2 [Option ID = 14]
3. 3 [Option ID = 15]



4. 4 [Option ID = 16]

3)

According to Piaget which of these factors plays an important role in cognitive
development ?

(1) Activity

(2) Conditioning
(3) Language

(4) Reinforcement
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[Question ID = 5][Question Description = S17_CDP_Q005]
1. 1 [Option ID = 17]
2. 2 [Option ID = 18]
3. 3 [Option ID = 19]
4. 4 [Option ID = 20]

®) Which of the following is a correctly matched pair ?
(1)  Sensorimotor period-Application of logic to concrete problems
(2) Pre-operational stage-Reversibility and decentration
(3) Concrete operational stage-Object permanence and animistic thinking
(4) Formal operational stage-Abstract thinking
o 1 9 A o e T 7
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[Question ID = 6][Question Description = S17_CDP_Q006]

1. 1 [Option ID = 21]

2. 2 [Option ID = 22]

3. 3 [Option ID = 23]
4. 4 [Option ID = 24]

7)



A child reasons that if the laws are not meeting the needs of the people they can be
changed through mutual agreement and democratic procedures. Which stage of
Kohlberg's moral development does this child come under ?

(1) Post-conventional Morality

(2) Pre-conventional Morality
(3) Heteronomous Morality
(4) Autonomous Morality
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[Question ID = 7][Question Description = S17_CDP_Q007]
1. 1 [Option ID = 25]
2. 2 [Option ID = 26]
3. 3 [Option ID = 27]
4. 4 [Option ID = 28]
8)
In Lev Vygotsky’s theory the teachers should to enable the child to learn
meaningfully.
(1) provide scaffolding
(2) ensure conditioning
(3) offer rewards
)

(4) give punishment
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1[Q1L1<E.-cs;ti9n IB =zzg[Question Description = S17_CDP_Q008]
2. 2 [Option ID = 30]

3. 3 [Option ID = 31]
4. 4 [Option ID = 32]



9 5.3 . :
A key characteristic feature of the progressive classroom is that :

(1) The learner passively receives the knowledge

(2) The learner construct knowledge actively

(3) The learner grasp knowledge through rote memory
(4) The learner learn mainly through imitation
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[Question ID = 9][Question Description = S17_CDP_Q009]
1. 1 [Option ID = 33]
2. 2 [Option ID = 34]
3. 3 [Option ID = 35]
4. 4 [Option ID = 36]

10)

Assertion (A) : Teachers should use standardized IQ tests to measure children’s
intelligence.

Reason (R) : Standardized 1Q tests can predict intelligence accurately.

Choose the correct option.

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(3) (A) is true but (R) is false.

(4) Both (A) and (R) are false.
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[Question ID = 10][Question Description = S17_CDP_Q010]
1. 1 [Option ID = 37]
2. 2 [Option ID = 38]
3. 3 [Option ID = 39]
4. 4 [Option ID = 40]

11)



Individuals having high have sensitivity to rhythm, pitch, meter, tone
melody.

(1) Musical intelligence
(2) Bodily-kinaesthetic intelligence
(3) Interpersonal intelligence

)

(4) Linguistic intelligence
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1[.Q;J?;I§itci>or:1 |||; ==411 ;][Question Description = $17_CDP_Q011]
2. 2 [Option ID = 42]

3. 3 [Option ID = 43]
4. 4 [Option ID = 44]

12 : < s :
) In socio-constructivist perspective language :
persp guage

(1) facilitates learning by provisioning for social interaction.
(2) is a barrier in learning process by interrupting thinking.
(3) is insignificant in the learning process.

)

hinders the processes of learning.
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[Question ID = 12][Question Description = S17_CDP_Q012]
1. 1 [Option ID = 45]
2. 2 [Option ID = 46]
3. 3 [Option ID = 47]
4. 4 [Option ID = 48]

" The culture of a society is highly influential in development of gender roles since :

(1) Gender is a biological construct.
(2) Gender is a social construct.

(
(4

(&)

)
) Gender is genetically determined.
) Gender is neither biclogical nor social.
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[Question ID = 13][Question Description = S17_CDP_Q013]
1. 1 [Option ID = 49]
2. 2 [Option ID = 50]
3. 3 [Option ID = 51]
4. 4 [Option ID = 52]

%) Asgsessment :
(1) Should generate tension and stress to ensure learning.
(2) Should help to improve the process of teaching-learning.
(3) Is a good strategy to label and categorize children.
(4)  Should actively pm'mol:e competitive spirit among children.
Hleh el :
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1[Q:1e[.-;titgn |I|; =513 T][Question Description = S17_CDP_Q014]
2. 2 [Option ID = 54]

3. 3 [Option ID = 55]
4. 4 [Option ID = 56]

15 : : A
" In order to ensure continuous and comprehensive evaluation teachers should :

Use summative assessment.

)

) Use formative assessment.

) Focus on scholastic aspects only.
)

Focus on use of paper-pencil objective type testing only.
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1[Q1u<[ecs;tit9n |||; =517 ]5][Question Description = $17_CDP_Q015]

2. 2 [Option ID = 58]
3. 3 [Option ID = 59]



4. 4 [Option ID = 60]

16)

Which of the following statements about inclusion is NOT Correct ?

(1)

It regards inclusion and exclusion as connected processes.

Inclusion is focussed on adapting the curriculum for a specific group of students
who are disabled.

Inclusion benefits all students.

Inclusion is a process in which a school attempts to résp(}nd to all students as

individuals.
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[Question ID = 16][Question Description = S17_CDP_Q016]
1. 1 [Option ID = 61]
2. 2 [Option ID = 62]
3. 3 [Option ID = 63]
4. 4 [Option ID = 64]

17)

Assertion (A) : In a classroom of diverse learners, teachers should give reasonable

autonomy and flexibility in curriculum and assessment strategies.

Reason (R) : Children learn better when they take ownership and their learning needs

are accommodated.

Choose the correct option.

Both (A) and (R) are true and (R) is the correct explanation of (A).
Both (A) and (R) are true but (R) is not the correct explanation of (A).
(A) is true but (R) is false.

Both (A) and (R) are false.
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1[.Q:J?g:>1;?or:1 |I|; :615]7][Question Description = S17_CDP_Q017]
2. 2 [Option ID = 66]

3. 3 [Option ID = 67]
4. 4 [Option ID = 68]

" Which of the following is an example of assistive technology to aid mobility ?
(1) Walking stick

(2)

(3) Hearing aids

(4) Magnifying glass

Braille system
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[Question ID = 18][Question Description = S17_CDP_Q018]
1. 1 [Option ID = 69]
2. 2 [Option ID = 70]
3. 3 [Option ID = 71]
4. 4 [Option ID = 72]

19)

Which of the following is NOT an effective strategy to engage students with visual
challenges ?

(1) Provide least restrictive environment in the classroom.
(2) Eliminate unnecessary obstacles from classroom.

(3) Present the concepts in multiple ways.
(4)

4)  Focus on segregation of the students and always make them sit seperately.
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1[Q:J<[ecs)titgn |IE =713 ]9][Question Description = S17_CDP_Q019]
2. 2 [Option ID = 74]

3. 3 [Option ID = 75]
4. 4 [Option ID = 76]

) What is creativity ?
(1) Ability to create or discover something that is novel
(2)  Ability to repetitively perform an action without being bored
(3)  Ability to rote memorize sequences of numbers
(4) Ability to do convergent thinking
TEIHRT 1 & 2

(1)  F® TH T I @ISH 1 &Ha1 St At &l
(2) fom @R g forelt ol &1 aR-aR T i A
(3) ¥Rl % STIERHI 1 ATE TE I Al
(4) HAFTER 99 FE T

1[Q1L1¢[e;titgn |II; =727(])][Question Description = $17_CDP_Q020]

2. 2 [Option ID = 78]

3. 3 [Option ID = 79]
4. 4 [Option ID = 80]

21)
Assertion (A) : Teachers should provide lot of opportunities to the children for discussion
and dialogue.
Reason (R) : Meaningful learning involves the processes of interaction with others.

Choose the correct option.

(1)  Both (A) and (R) are true and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(3) (A) is true but (R) is false.

(4) Both (A) and (R) are false.
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[Question ID = 21][Question Description = S17_CDP_Q021]
1. 1 [Option ID = 81]
2. 2 [Option ID = 82]
3. 3 [Option ID = 83]
4. 4 [Option ID = 84]

22 :
" Learner-centred approach involves :

(1) Methods where learners” own initiative and efforts are involved in learning
(2

(
(4

) Teacher drawing conclusions for the learners
) Traditional instructional methods
) Methods in which textbook is the centre of learning

(@5
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[Question ID = 22][Question Description = S17_CDP_Q022]
1. 1 [Option ID = 85]
2. 2 [Option ID = 86]
3. 3 [Option ID = 87]
4. 4 [Option ID = 88]

)" Teachers should promote the beliefs that learning is :

(1) An active process which has a social context.

(2)  An active process but does not have a social context.
(3) A passive process which has a social context.

(4) A passive process which does not have a social context.
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1[.Q:J(E.'cs):’itci)0r:1 |IE ==829]3][Question Description = S17_CDP_Q023]
2. 2 [Option ID = 90]

3. 3 [Option ID = 91]
4. 4 [Option ID = 92]

24 ; ; _ i
" What should be the sequence of introduction of new concepts to children ?

(1) Unknown to known

(2) Higher order to lower order
(3) Abstract to concrete
(4) Simple to complex

=i %1 T erauronat § uffed S o 9 Y gl ey ?
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[Question ID = 24][Question Description = S17_CDP_Q024]
1. 1 [Option ID = 93]
2. 2 [Option ID = 94]

3. 3 [Option ID = 95]
4. 4 [Option ID = 96]

25)

Contemporary policies of education such as New Education Policy 2020 propose that
learning should be :

(1), Recall based

(2) Textbook centric

(3

) Experiential
(4) Exam oriented

et foen 1 Aifaa S8 =8 faen Hifa 2020 =1 v ® 5 de 21 =R |
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[Question ID = 25][Question Description = S17_CDP_Q025]



1. 1 [Option ID = 97]
2. 2 [Option ID = 98]
3. 3 [Option ID = 99]
4. 4 [Option ID = 100]

26) Which of the following are effective problem-solving strategies ?

(i)  Analogical thinking
(i) Functional fixedness
(iii) Convergent thinking
(iv) Algorithms

(1) (@), (i)

(2) @) @v)

(3) (@) (i), (iv)

(4) (@) (i), (i), @iv)
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(3) (@), (i), (iv)

(4) (1), (1), (i), (iv)

[Question ID = 26][Question Description = S17_CDP_Q026]
1. 1 [Option ID = 101]
2. 2 [Option ID = 102]
3. 3 [Option ID = 103]
4. 4 [Option ID = 104]

Encouraging original discovery and thinking in the classroom :
(1)  encourages children to become effective problem solvers.

(2) s a hindrance to creating socio-constructivist classrooms.
(3) has a negative impact on meaningful learning,
(4)  takes away the focus from encouraging critical thinking.

Fe1 ¥ Hifers 9 9 @IS vd a9 1 9@ &
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[Question ID = 27][Question Description = S17_CDP_Q027]



1. 1 [Option ID = 105]
2. 2 [Option ID = 106]
3. 3 [Option ID = 107]
4. 4 [Option ID = 108]

28 ; :
) What characterises mastery-orlented learners ?

(1) Low fear of failure and incremental view of ability
(2) Low fear of failure and entity view of ability

(3) High fear of failure and incremental view of ablility
(4) High fear of failure and entity view of ability

Herd-34a Toenfefi =t s fagmma & 2

(1) Tawemr =1 %9 ST AR &mal w1 aiftfw gfeshm
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(4) fawe #1393 w9 R w1 fer gfiesm

[Question ID = 28][Question Description = S17_CDP_Q028]
1. 1 [Option ID = 109]
2. 2 [Option ID = 110]
3. 3 [Option ID = 111]
4. 4 [Option ID = 112]

29 4 TR » :
) How can teachers encourage children to become intrinsically motivated learners ?

(1) By offering rewards

(2) By giving punishment
(3) By encouraging passive imitation
(4) By creating joy of learning

Torerer =r=dl =1 atfafte &9 9 sfvnfa fenelf =77 & fow 9 dieafed 2 99 22
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[Question ID = 29][Question Description = S17_CDP_Q029]
1. 1 [Option ID = 113]
2. 2 [Option ID = 114]
3. 3 [Option ID = 115]
4. 4 [Option ID = 116]

30) Teachers should convey their beliefs to the students that ability is :

(1) Uncontrollable

(2) Fixed
(3) Incremental
(4) Entirely dependent on external factors
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[Question ID = 30][Question Description = S17_CDP_Q030]
1. 1 [Option ID = 117]
2. 2 [Option ID = 118]
3. 3 [Option ID = 119]
4. 4 [Option ID = 120]

Topic:- MATH_P2_CTET

) -
Value of (—3)°x(0.3)2x0.01 lies :

(1)
(2)
(3)
(4)

(=g

between —2.5 and —2.25
between 3 and 3.5
between —3.5 and —2.5
between 2.5 and 3.5

x(0.3)2x0.01 1 A feord & ;

—25 3R —225% &9 §
33iR35% 9= §

—35 3R —25F 49 H
2.5 3% 3.5 % == |

[Question ID = 31][Question Description = S17_Maths Content/Pedagogy_Q031]
1. 1 [Option ID = 121]
2. 2 [Option ID = 122]
3. 3 [Option ID = 123]
4. 4 [Option ID = 124]

2)

+ B 7

If A and B are digits such that

VA

, then the value of twice of AB is :
6 2

1

— e — —
= L3
e

=

52
102
104
54



Ife A IRB AF T UFR 2 ¥ -

3 A

TB7 R ABwTR AN
6 2

(1) 52

@) 102

(3) 104

4) 54

[Question ID = 32][Question Description = S17_Maths Content/Pedagogy_Q032]
1. 1 [Option ID = 125]
2. 2 [Option ID = 126]
3. 3 [Option ID = 127]
4. 4 [Option ID = 128]

3)

Sum of all the factors of 6 (except itself) is equal to 6. Which of the following numbers
depicts the same type of property ?

(1) 27
(2) 36
(3) 32
(4) 28

6k Gl UGS (¥4 1 BIS &) &1 AR 6 o @ g | 151 H H FhiA-Hl G& 35 Y 6 00
%1 Wef¥ld Tt 87

(1) 27
(2) 36
(3) 32
(4) 28

[Question ID = 33][Question Description = S17_Maths Content/Pedagogy_Q033]
1. 1 [Option ID = 129]
2. 2 [Option ID = 130]
3. 3[Option ID = 131]
4. 4 [Option ID = 132]
4)
A square number is divisible by 6. Then, which of the following statements need not
always be true about that square number ?
(1) Itis divisible by 36
(2) Its square root is divisible by 6
(3) Its square root is divisible by 3
(4) Itis divisible by 24



uF i g 69 fausg ¥ 9, fra § 9 form e 1 9o o9 den & 9 | 99 g B
SEYIF 78 & ?

(1) e Hea 36 9 faasa 2|

(2) 3HI FHA 69 faa=a § |
(3) =T I 3 F faursy T
(4) @ HET 24 favsa 7

[Question ID = 34][Question Description = S17_Maths Content/Pedagogy_Q034]
1. 1 [Option ID = 133]
2. 2 [Option ID = 134]
3. 3 [Option ID = 135]
4. 4 [Option ID = 136]

*" Which of the following numbers is divisible by 3 and 4 both ?
(1) 1716
(2) 1816
(3) 1713
(4) 1178

Frefafed § 9 <9 9 9@ 3 304 3H 9 favyss 7

(1) 1716
(2) 1816
3) 1713
(4) 1178

[Question ID = 35][Question Description = S17_Maths Content/Pedagogy_Q035]
1. 1 [Option ID = 137]
2. 2 [Option ID = 138]
3. 3 [Option ID = 139]
4. 4 [Option ID = 140]

6)

After joining as a chemist in a fire cracker production company, Meenu was told that to
make a specific type of gun powder; Carbon, Sulphur and Pottasium Nitrate must to be
mixed in the ratio 3 : 2: 1. If 1.2 kg of gun powder is to be made, then how much Sulphur
she should add ?

(1) 200 g
(2) 300g
(3) 400g
(4)



Wk TIRE S ATl oAl H ki % U8 I e B9 o 918, Hig 1 S 71 fe uw fafire
Yo ] F%E 9 o T ShTeH, Toew IR defemy AEee &1 3: 2: 1 ¥ e s =ifen) 3fg
1.2 kg S%E A1 S 8, T 39 forg 39 foraen e & =ifeu ?

(1) 200 g

(2) 300 ¢g

(3) 400 g

(4 600 g
[Question ID = 36][Question Description = $17_Maths Content/Pedagogy_Q036]
1. 1 [Option ID = 141]

2. 2 [Option ID = 142]
3. 3 [Option ID = 143]
4. 4 [Option ID = 144]

7)

When Babu purchased a new Nissan Micra in 2020, its price was < 5,00,000. Every year,
its price will decrease 4% from that years price. What will be its price (in ) in the year
2022 ?

(1)  4,80,000

(2) 4,60,800
(3)  4,60,000
(4) 5,60,800

Sg &g 4 2020 H 78 T HiEshl @il 9, 96 351 Hed ¥ 5,00,000 A1 | YAk oY, SHb Hed
H 39 a9 % qed i 4% FH Sl ST g1 =9 2022 § 39 god € H) 0 A ?

(1) 4,80,000

(2) 4,60,800

(3) 4,60,000

(4) 5,60,800

[Question ID = 37][Question Description = S17_Maths Content/Pedagogy_Q037]
1. 1 [Option ID = 145]
2. 2 [Option ID = 146]
3. 3 [Option ID = 147]
4. 4 [Option ID = 148]

8)

A ten litre mixture consists of acid and water only. The acid is 60% in that mixture. If we

want to make the percentage of water 25% in the mixture, then how much more acid has
to be added to it ?

(1) 3L
2) 4L
(3) 6L
4 7L



T T X & g § Fhae o R u € %1 39 fagm § 60% o1 B Afc gy 3w fagw |
25% 9 =Ted ©, A 39 T e iR faer w2m?

(1) 3L
(2) 4L
3) 6L
4 7L

[Question ID = 38][Question Description = S17_Maths Content/Pedagogy_Q038]
1. 1 [Option ID = 149]
2. 2 [Option ID = 150]
3. 3 [Option ID = 151]
4. 4 [Option ID = 152]

9)

y 1 +z_1 +x_1 .
LFI'FE—E,}/ 5 1 and Z E—Z,thenthe value of x +y+zis:
1
i 5
1
2 3
o1
G 3
(4 1

X

1 -
E=Z %,mx+y+2$[qﬁ%:

y_ 1 i
Y+L=— y+=== z+
e el

_—
5]
S
B = W= =

(3)
(4)

[Question ID = 39][Question Description = S17_Maths Content/Pedagogy_Q039]
1. 1 [Option ID = 153]
2. 2 [Option ID = 154]
3. 3 [Option ID = 155]
4. 4 [Option ID = 156]

sk

10)



If a and b are positive integers (a and b # 0) such that aP=4913, then (a+b)2—b—14 ig

equal to :
(1) 0
(2) 1
@) 13
(4) 23

a 3l b TH Y% Uik § (a 3 b # 0) fF ab=4913 §, @@ (a+b)a— b1 & HE =R

2

1 0
2 1
(3) 13
(4) 23

[Question ID = 40][Question Description = S17_Maths Content/Pedagogy_Q040]
1. 1 [Option ID = 157]
2. 2 [Option ID = 158]
3. 3 [Option ID = 159]
4. 4 [Option ID = 160]

11)

The measures of four angles of a quadrilateral are in the ratio of 1:2: 3 : 4 What is the
measure of the smallest angle ?

(1) 18°
(2) 20°
(3) 36°
@) 72°

ot =qef < <RI HIo Bl O 1 SN 1:2:3:4 §1 AT IV Rl Y A F?

(1) 18°
(2) 20°
(3) 36°
(4y = 72°

[Question ID = 41][Question Description = S17_Maths Content/Pedagogy_Q041]
1. 1 [Option ID = 161]
2. 2 [Option ID = 162]
3. 3 [Option ID =163]
4. 4 [Option ID = 164]

2 a polyhedron has 6 faces and 12 edges, then number of its vertices is :
(1) 4
(2) 8
(3) 14

(4) 18



afe fordt agwarn! F 6 ok i 12 frai € 1 su ol ot gemn € .

(1) 4
2) 8
3) 14
4) 18

[Question ID = 42][Question Description = S17_Maths Content/Pedagogy_Q042]
1. 1 [Option ID = 165]
2. 2 [Option ID = 166]
3. 3 [Option ID = 167]
4. 4 [Option ID = 168]

13)
In a rectangle ABCD, AC=(2x+3) cm and BD=(3x—5) cm. Then, value of (2x+9) is :
(1) 8
(2) 16
(3) 25
(4) 27

gt T ABCD H, AC=(2x+3) cm 3R BD=(3x—5) cm &1 @, (2x+9) %1 A T :

1 8

(2) 16
(3) 25
(4) 27

[Question ID = 43][Question Description = S17_Maths Content/Pedagogy_Q043]
1. 1 [Option ID = 169]
2. 2 [Option ID = 170]
3. 3 [Option ID = 171]
4. 4 [Option ID = 172]

14)

Bisectors of an_g_les B and C of a triangle ABC intersect at a point O. If ZBOC=105%, then
£BAC is equal to :

(1) 15°
@) 30°
(3) 45°
(4)  50°

faredt Byt ABC % sh1vil B 3 C % gufgure foig O W gfa=se & €1 afs ZBOC=105°%,
T ZBAC S ¥ :

(1) 15°
(2) 30°
(3) 45°
(4) 50°

[Question ID = 44][Question Description = S17_Maths Content/Pedagogy_Q044]
1. 1 [Option ID = 173]



2. 2 [Option ID = 174]
3. 3 [Option ID = 175]
4. 4 [Option ID = 176]

15)

If x and y are respectively the supplement and complement of an angle 60°, then value of

(x+y) is equal to :
(1) 120°
(2) 135%°
(3) 145°
(4) 150°

Afg x &Ry HAW: B 60°F HYh AR I T, T (v +y) T A UK ¢ :

(1) 120°
(2) 135°
(3) 145°
(4) 150°

[Question ID = 45][Question Description = S17_Maths Content/Pedagogy_Q045]
1. 1 [Option ID = 177]
2. 2 [Option ID = 178]
3. 3 [Option ID = 179]
4. 4 [Option ID = 180]

®) Area of a rhombus, whose diagonals are of lengths 12 cm and 25 cm, is :
(1) 150 cm?
(2) 100 cm?
(3) 300 ecm?
(4) 75 cm?

Al 12 cm 377 25 em & faavil 916t T FHEES 1 4EEE €

(1) 150 em?
(2) 100 cm?
(3) 300 cm?2
(4)  75.cm?

[Question ID = 46][Question Description = S17_Maths Content/Pedagogy_Q046]
1. 1 [Option ID = 181]
2. 2 [Option ID =182]
3. 3 [Option ID = 183]
4. 4 [Option ID = 184]

17)



MORE is a trapezium in which as MO||RE, MO =24 units and RE =18 units. If area of the
trapezium is 336 square units, then the distance between MO and RE is :

(1) 12 units

(2) 14 units
(3) 16 units
(4) 18 units

MORE U g9d 8, fSiH MO||RE 8, MO =24 3%[E 8 791 RE=18 35T 2 | Al 39 HHaid &1
&S 336 9 T €, 1 MO 3R RE % &9 &1 gt & :

(1) 12 3&E
(2) 14 THE
(3) 16 3%
(4) 18 T

[Question ID = 47][Question Description = S17_Maths Content/Pedagogy_Q047]
1. 1 [Option ID = 185]
2. 2 [Option ID = 186]
3. 3 [Option ID = 187]
4. 4 [Option ID = 188]

18)

A gift box of cuboidal shape has to be covered by paper which costs ¥ 0.50 per square
centimetre. If the box has dimensions 8 cm X3 cm X 5 cm, then the cost of the paper will
be :

(1) T 158.00
@) % 79.00
(3) % 316.00

)
(4) T 790.00

T o RN o Ueh SYER-F99 &l Ush hPTs 9 &1 911 &, Sdeh! arme 2 0.50 9fd a9 FEHe
21 afe =9 o= F) 90 8 emx 3 cm X 5 em €, A1 TS & ARG B

(1) T 158.00
(2) T 79.00
(3) ¥ 316.00
(4) T 790.00
[Question ID = 48][Question Description = $17_Maths Content/Pedagogy_Q048]

1. 1 [Option ID = 189]
2. 2 [Option ID = 190]
3. 3 [Option ID = 191]
4. 4 [Option ID = 192]

19)



The median of the observations 11, 12, 14, 18, x + 2, 22, 22, 25 and 61, arranged in ascending
order, is 21. Then, value of 3x+7 is ;

(1) 50
(2) 57
(3) 64
4) 67

ARTE A § Syafe Yemil 11, 12, 14, 18, x+2, 22, 22, 25 31K 61 1 WIeTH 21 € | o, 3x+7
FIHAE :

(1) 50

(2) 57

(3) 64

(4) 67
[Question ID = 49][Question Description = S17_Maths Content/Pedagogy_Q049]
1. 1 [Option ID = 193]

2. 2 [Option ID = 194]
3. 3 [Option ID = 195]
4. 4 [Option ID = 196]

20)

Numbers 3, 4, 5, . . ., 47 are written on separate slips (one number on one slip) and are
keptina box. A slip is drawn from the box, without looking intoit. What is the probability
of getting a number divisible by 6 ?

=
Ele &le &lw Elw



e -gue 9fEl W @A 3, 4, 5, . . ., 47 faet 9t € aun 3% fesw § v fomn wman 2
(e 7=l R U HE) 39 fesa | 9, o 50 ot 38, U vl et 9 2 1 69 fausa U
T UG B Rl Wi 8 2

B
n 3

9 74

8

3 ==
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[Question ID = 50][Question Description = S17_Maths Content/Pedagogy_Q050]
1. 1 [Option ID = 197]

2. 2 [Option ID = 198]
3. 3 [Option ID = 199]
4. 4 [Option ID = 200]

2) Which of the following methods are NOT involved in mathematical proofs ?
(1) Empirical Observation

(2) Deductive Reasoning
(3) Verification
(4) Logical Reasoning

frafafas 9 § we-df fafl aftr il § 9 =& 2 2
(1) gl sTeR

(2) TR fEeEs

(3) wWeTH

(4) bl forer

[Question ID = 51][Question Description = S17_Maths Content/Pedagogy_Q051]
1. 1 [Option ID = 201]
2. 2 [Option ID = 202]
3. 3 [Option ID = 203]
4. 4 [Option ID = 204]
22)
Which of the following is NOT a purpose of conducting assessment and evaluation in
mathematics ?
(1) To find out intelligence quotient of students to identify talented students
(2) To identify students difficulties in specific areas and specific concepts
(3) To make appropriate changes in teaching method
(4)

4) To keep a record of progression of students’ learning of wide range of conceptual areas



Frreferfas & | siF-a1 T & STeRer i godis T 1 Sed TRl 87

(1) wfqurae feenferEl 1 vg=am & fou 39+ gfg-afsr @ = v

(2) Tafere &= SR sraamonet o faenie % Hfeasal =i ggam

(3) Towequr fafe # sugea afEd e

(4) Tornfefal & sifenmd o sTagRUTHS &30 i AR T Wid 1 Twe @

[Question ID = 52][Question Description = S17_Maths Content/Pedagogy_Q052]
1. 1 [Option ID = 205]
2. 2 [Option ID = 206]
3. 3 [Option ID = 207]
4. 4 [Option ID = 208]

23)
Which of the following can be the most appropriate teaching-learning resource for the introduction
of the concept of similarity in geometry ?

(

s

)  Differently sized photographic images of same objects
(2)
(3) Powerpoint presentation on definition of similarity
(4) A textbook chapter on similarity

Drawings of similar looking shapes

frefafea § ¥ FA-ar =nfafa o goev 1 SEuwn #1 W&d w1 o g Faffes 30 em-sfirm
HEIE B Rl & 2

(1) U=y gegei it fafi= @9 archt wemfes sfaar

(2) A o Al SEfaEl & sy

(3) HHEY hi IRUM G &R G5 FEGfaehi

(4) U H HHEUG T U A

[Question ID = 53][Question Description = S17_Maths Content/Pedagogy_Q053]
1. 1 [Option ID = 209]
2. 2 [Option ID = 210]
3. 3 [Option ID = 211]
4. 4 [Option ID = 212]
24)
According to Piaget at which stage children begin to show mathematical reasoning skills ?
(1) Concrete Operational Stage
(2) Pre-operational Stage
(3)  Sensori-motor Stage
(4) Formal Operational Stage



TSt o SR fomg sraeen ® o= TifvRda faa=m s feam 3% & § 7
(1) Hd HirareTs sHaw
(2) Yo HicharcHs sTere
(3) HOGI-THE STER
(4) o= diearers sEee
[Question ID = 54][Question Description = S17_Maths Content/Pedagogy_Q054]
1. 1 [Option ID = 213]
2. 2 [Option ID = 214]

3. 3 [Option ID = 215]
4. 4 [Option ID = 216]

25)
According to National Curriculum Framework, 2005, which among the following is the most
appropriate statement with respect to narrow aim of mathematics ?

(1) Learning mathematics helps in the development of reasoning

(2) Learning mathematics would turn out employable adults who will contribute to socio-
economic development

(3) Learning mathematics helps in generating curiosity and enjoyment among children
(4) Learning mathematics helps in developing logical thinking

T UEEEdl 9@, 2005 F oER, efafed § 9 w-m wuE e F gl 389y F ged |
Hatfes 9 H9F ©72

(1) ifora =1 aaferry fad=m % fasrg o Tem & &

(2) ifor =1 eAfepre TSR A U S o T s € S amtsie- et faser § AreE <
(3) IfoTe =1 saferT w=El H TSR U A Se9 e | HErEdl B ©

(4) ifora =1 siferry T fefaa & fomera o wema w5

[Question ID = 55][Question Description = S17_Maths Content/Pedagogy_Q055]
1. 1 [Option ID = 217]
2. 2 [Option ID = 218]
3. 3 [Option ID = 219]
4. 4 [Option ID = 220]

26) 'Which of the following is a biconditional statement of the following statements :
P : One is less than seven; q : Two is less than eight ?
(1) For every, one is less than seven, there exists two is less than eight
(2) - One is less than seven, if and only if two is less than eight

(3) If one is less than seven, then two is less than eight
(4) One is not less than seven and two is not less than eight



Frafafas § | wF-=1 F2H p 3R q F1 599 Fum 572
p:U% HA HHH E; q: 8 AS HFA B

(1) 9e¥F Ush, WA 9 %4 o foAQ wh T €, 8100 S S W HH §
(2) TUH U W FH T, 3TN AR Fad T, €, S T FH T

(3) dfzu®m A AFAE, T E, ASHFTE

(4) T, T Y FHAE ¢ SR G, e | w8

1[Q1u<[e;ti<_m |I|; =2F;?]][Question Description = $17_Maths Content/Pedagogy_Q056]

2. 2 [Option ID = 222]
3. 3 [Option ID = 223]
4. 4 [Option ID = 224]
27)

While solving the equation x +2 =8, the students in a mathematics class came up with the following
solutions :

x=2-8;x=8+4+2, x+2+8=0and x = % The students have NOT acquired the concept of :

(1) Proportionality
(2) Equality

(3) Multiplication
(4) Subtraction

HHTRL, x+2=8 %l BA HTd BU 7R Kl e o faznfeli 7 Fefafea wamm y&=q fa
¥=0-8:r=8+2:x+248=03 5 = O Fernfeldi 3 s raumn R THF W L wE

2
(1)  HHrgYIfdeRdl

(2) HHAl

(3) T

(4) =HEFEA

[Question ID = 57][Question Description = S17_Maths Content/Pedagogy_Q057]
1.1 [Option ID = 225]
2. 2 [Option ID = 226]
3. 3 [Option ID = 227]
4. 4 [Option ID = 228]
28)
The numbers which can be expressed as sum of two cubes in two different ways are called as :
(1) Cube Numbers
(2) Prime Numbers
(3) Ramanujan Numbers

4) Pythagorean Numbers



3 FE&An, {52 1 fafsr= yrl 4, €1 == % 30 & w9 § Yeiid T s e B, %@ 9 ©

(1) =4 Hemd
(2) A9 HEI
(3) HISH HEAd

(4) UEATRES HEan

[Question ID = 58][Question Description = S17_Maths Content/Pedagogy_Q058]

1. 1 [Option ID = 229]

2. 2 [Option ID = 230]

3. 3 [Option ID = 231]

4. 4 [Option ID = 232]

29)
For two statements (A) and (R) given below, choose the correct alternative.
Statement (A) : The teacher who connects mathematical concepts with the objects around the

students, can help in developing the mathematical understanding of student.

Statement (R) : Students come to the classroom with a lot of learning from their environment.

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(3) (A)is true but (R) is false
(4) (A)is false but (R) is true

= feu T e (A) 3R (R) F o, w@ faeew 9|

HYT (A) : S Fers nivrdra sEemonsT w fTmfiE % om-uw w5t asgel § Siea €, 97 fomnedt w5t
wfordt woe fasfad % § Heg # g&dl T

He (R) : Toenefi sen § o709 ufEw 9 Rl F@ Hig e §

(1) (A) 3R (R) 9 ¥ € 2R (R), (A) F TEt =M@ HTAT &

(2)  (A) 3R (R) S T € R (R), (A) 1 T =mEen 6§

(3) (A)¥THA & @R (R) 379 §

(4) (A) 3T8H & ©ifeh (R) ¥4 ©

1[.Q:J?;I§it?or:1 IB :2533]][Question Description = S17_Maths Content/Pedagogy_Q059]

2. 2 [Option ID = 234]

3. 3 [Option ID = 235]
4. 4 [Option ID = 236]

30 Which of the following covers most questions from a specific content ?
(1) Achievement Test

(2) Norm-referenced Test

(3) Diagnostic Test

(4)

4 Summative Test



Trefefad § | wm-a fafiree faw-asg § | sifessia 9o =1 wffe #a g7

(1) 3Iyafs qhem

(2) Wk Hefsd udiam
(3) TremrTE wiaw
(4) RIS T

[Question ID = 60][Question Description = S17_Maths Content/Pedagogy_Q060]
1. 1 [Option ID = 237]
2. 2 [Option ID = 238]
3. 3 [Option ID = 239]
4. 4 [Option ID = 240]

Topic:- SCIENCE_P2_CTET
1
Identify the statements that are false :
(A) Charge becomes used up as it flows through a circuit.
(B) Charge flows through circuits at very high speeds.
(C) A light bulb transforms the electrical energy of moving charge into other forms of energy.
(D) The charge carriers in wires are simply the electrons possessed by the atoms that make up

the wires.
(1)  (A) and (B)
(2) (B) and (C)
(3) (C) and (D)
(4) (A) and (D)
UF el 1 TEAE HIST N Hal e 8 2

(A) e afge § yaE & Wy =4 3 S E

(B) oTrEl steifersR fq & |y uftey § yenfeq & g1

(C) T WEHTT 1 Ses TfGHH (Tfaeier) e shi Jgd il & e & o7 WEY § 9¢a odl §
(D) dRIH 7o Sgsh MERUEE il ok GHII[S] o Sl aid ¢ |

(1) (A) 3R (B)

(2 (B)=R (C)

(3 (O 3R D)

(4) (A) ¥R (D)

[Question ID = 61][Question Description = S17_Science_Q061]
1. 1 [Option ID = 241]
2. 2 [Option ID = 242]
3. 3 [Option ID = 243]
4. 4 [Option ID = 244]

2)



Two mirrors A & B are at right angle to each other. If a ray of light strikes mirror A at 30 degrees
to the normal and then strikes mirror B, find the angle of reflection of the ray reflected from both
mirrors A & B.

(1) 30 degrees & 60 degrees respectively
(2) 60 degrees & 30 degrees respectively
(3) Both 30 degrees
(4) Both 60 degrees

21 BYU A 3R B U §HL o HHI I feod €1 S Wehre ot U fohtur <9u1 A o | § 30 feui
W AT © SR T gU B H 2ot 7, S g9V A #iR B Y TEfdd R o SEe % i ol
iU

(1) 30 feft @i 60 feult wam (men:)

(2) 60 feuit 3iw 30 feuft o (sFAen:)

(3) =i 30 feut

(4) = 60 Teit

[Question ID = 62][Question Description = S17_Science_Q062]
1. 1 [Option ID = 245]
2. 2 [Option ID = 246]
3. 3 [Option ID = 247]
4. 4 [Option ID = 248]

3)
Which material would you choose to wrap a box of ice cream to prevent it from melting in summer
at 30 degree Celsius and in winter at 3 degree Celsius ?

(

=

) Aluminum foil in winter and plastic in summer
(2) Blanket in both the cases

(3) Aluminum in both the cases

(4)

4 Plastic foil in winter and blanket in summer

nfe=i # 30 Teut Afeazg o gféEi § 3 ferlt Afcaaw w smasm = fioas § 991 & f&u e
Torg w1 == S ?

(1) |feal § gt 1vi (wiEe) iR @i 1w o |

(2) = A | HrEd

(3) Ut SE el §

(4) onfiee avi wiedl 6 iR nfHEl § wee
[Question ID = 63][Question Description = S17_Science_Q063]

1. 1 [Option ID = 249]
2. 2 [Option ID = 250]
3. 3 [Option ID = 251]
4. 4 [Option ID = 252]

4)



In a distance - time graph, motion of two cars A & B is plotted in the form of a Straight line. If the
line on the graph is steeper for A as compared to B, What can you infer from the graph ?

(1) Speed of A is greater than speed of B
(2)
(3) Speed of B is greater than speed of A

(4) Distance travelled by B is greater than distance travelled by A

Distance travelled by A s greater than distance travelled b_y B

U gO-9 o H, @ FE A SR B &) Tfq Uk Hieft Y % w9 H seifiad i 2 AR s
T, B ga H A Wi W@ ik S €, 99 oMY nera | R Fremd feprei 2

(1) B Tfa & A it 7ifa s1fues &

(2) B ERaF H TE S W A G qF i gl arfu B

(3) Al Tfd ¥ B =i fq sfee €

(4) AGR T F TE I Y BEW TF e g0 e ®)

1[Q:Jf;;it?or:1 IIII:)) =26;31]][Question Description = $17_Science_Q064]

2. 2 [Option ID - 254]

3. 3 [Option ID - 255]

4. 4 [Option ID = 256]

5)
The table given below lists substances and their respective densities :

Substances |Density(Kg/m3)

Mercury 13550
Corn oil 900
Copper 8960|

What would happen if a copper coin is dropped in a glass filled with mercury and corn oil ?
(1) Sink at the bottom of the glass

(2) Float over corn oil

(3) Float over mercury but sink in corn oil

(4) Float on the top of the glass



e wRolt # gerefl &t iR S Seifue el o g E ©

e T ( Kg/m')

m 13550
ek 1 e 900
GIE 8960

1 B SR R ST HE o 0l § o U T H U A 1 e 1 e fam w2
(1) 7o & a1 T a8 S (g Sm)
(2) HEF & IA W I
(3) OR TR AT UL HeRh o det H g8 S
(4) T % FHUL G
[Question ID = 65][Question Description = S17_Science_Q065]
1. 1 [Option ID = 257]
2. 2 [Option ID = 258]
3. 3 [Option ID = 259]
4. 4 [Option ID = 260]
6)
Consider the statements given below and choose the correct option.
Assertion :Larger the amplitude of vibrations, louder is the sound.
Reason : Higher the frequency of vibration, higher is the pitch.
(1) Both assertion and reason are correct and reason is the correct explanation of the assertion
(2
(3
(4

) Both assertion and reason are correct and reason is not the correct explanation of the assertion
) Assertion is true but reason is false
) Assertion is false but reason is true

Tefafen gl W foar #ify a1 98 fawey %1 9949 Sy

R : =HuA 1 s foen sfies gvm, St € s 3= Bl

T : %o ot emrgfa foat St enft, are oft Saen S g

(1) iforer 3R R0 SET Tt € qen SR, ifreme 1 T2 sre €

(2) PR R FRU EEI TE § T wRO, AfERE i HE e A ¥
(3) eifieRe HEl € W HRY e ¢ |

(4) ARy TEd & T R WE

1[Q1u<[e<§,titc_m |I|[)) =266?]][Question Description = $17_Science_Q066]

2. 2 [Option ID - 262]

3. 3 [Option ID = 263]
4. 4 [Option ID = 264]

7)



Mili took a deflated balloon and put it on the mouth of a glass bottle. She then put the glass bottle
in a bath of boiling water. There is change in the shape of the balloon. What does this activity
demonstrate ?

(1) Air inside the bottle decreases on heating
(2) Heat creates high pressure inside balloon
(3) Air inside the bottle increases on heating
(4)

4) Heat causes air inside the bottle to expand

fofer we fo=eh g Tt 1 ot € 99 39 e & sl o (5 T @ Sl § | 9% W FiE #i arad
1 Ererd/Saer I % U H T 2 1 e i st H ufteds g g1 w7 wiatafe = veit
FLA 72

(1) T BH 9 EIad % et i garary Hedl | |

(2) T TR F R T T A Hl ©

(3) T BF W S *F S Hl FA/AY T 8 |

(4) Tt Sae F TR HI gA/AT F WG FA T

[Question ID = 67][Question Description = S17_Science_Q067]

1. 1 [Option ID = 265]

2. 2 [Option ID = 266]

3. 3 [Option ID = 267]

4. 4 [Option ID = 268]

8)
In an experiment, samples of two colourless solutions M and N were taken. On adding turmeric
solution, M turns yellow in colour and N turns brick red. On adding M to N the red colour gradually

fades. What can you conclude about the nature of M and N ?
(1) M and N are both salts
(2) Misacid and N is base
(3) M is base and N is acid
(4)

4) M is a base and N cannot be known with given information

T WA H, &1 TifagE =ie M it N % 997 fae 7m0 | ged! faar o =ie M dier 81 Sdr 8 91 N 22
o1 7 1R S € | M3 N H e 9T arer U1 559 (4i-oiy) afror & s @

a9 M 2R N %! 9fd & ey § 1 frerd fepredi 2

(1) M et N eH g €

(2) M AR N&RE

(3) MEREIRN T &

(4) M &R g RN I Hiftd SHHr F W Te=H e 81 9l §

[Question ID = 68][Question Description = S17_Science_Q068]
1. 1 [Option ID = 269]
2. 2 [Option ID = 270]
3. 3 [Option ID = 271]
4. 4 [Option ID = 272]



% Identify the set which is NOT a food preservative :
(1) Iron oxide and Potassium permanganate
(2) Sodium benzoate and sodium metabisulphite
(3) Sodium chloride and citric acid
(4) Vit C (ascorbic acid) and sugar

T i T=H (F1) HIfee ST o T @ w@ee (ufee) T& e
(1) A sifeEe g defrm  wiire

(2) HifedH d=ite 9 Hifedd HeERHeHRS

(3) wifeaw FiEe o fafes s

(4) Toafa C (Tusria® o77) & Ul

[Question ID = 69][Question Description = S17_Science_Q069]
1. 1 [Option ID = 273]
2. 2 [Option ID = 274]
3. 3 [Option ID = 275]
4. 4 [Option ID = 276]

19 Which of the following sets comprises only Chemical changes ?
(1) Boiling of oil, breaking of mug, burning of paper
(2) Dissolving copper suphate in water, digestion of food, cutting of paper
(3) Breaking of egg, boiling salt water, mixing ink in water
(4) Rusting of iron, burning of paper, cooking of food

Trefafad § § %8 g9=4 +eel M qigdH J gafas €7
(1) et =1 Ia&A1, H 1 2241, FFTS Sl

(2) U (S) H I Hehe SieH], HIsH 9=, HETS i hiedl
(3) 31UL ] dTeAl, AU Sid ol IdTe], Sid § 2@l @l e
(4) T2 ol S @], HATS K ST (31 STAFT), WIS TRl

[Question ID = 70][Question Description = S17_Science_Q070]
1. 1 [Option ID = 277]
2. 2 [Option ID = 278]
3. 3 [Option ID = 279]
4. 4 [Option ID = 280]

11)



Consider the statements given below and choose the correct option :

Assertion :If an iron blade is put in a blue copper suphate solution, copper will get deposited over

the iron blade.

Reason : The reactivity of iron is greater than that of copper and hence copper is displaced from

F o S e S e
W N =
&=

£

copper sulphate solution.
Both assertion and reason are correct and reason is the correct explanation of the assertion
Both assertion and reason are correct and reason is not the correct explanation of the assertion
Assertion is true but reason is false
Assertion is false but reason is true

Fr=fafas s v faar FifSu qa 98 fawey =1 9979 Fifen |
IfqsmaT I Uk Wie o =A< i Al HI9 Hethe =il H Sl S ] dlea, die & =g 9

ehIUT

(D)
(2)
(3)
(4)

ST B ST |
sl ot gor § @ire i stfufsramier st 2t € a5t S 5otk die § qlen
Tereerfoe &1 T |

SfisRer ST R S TEt € qen R, s it TE ST 7

firrer iR shro ST WEl € U RV, SRR Rl WEl e A ¢

sfirer HEl € T R TTEd §

STfYaReM e § T R HEl B

[Question ID = 71][Question Description = S17_Science_Q071]
1. 1 [Option ID = 281]
2. 2 [Option ID = 282]
3. 3 [Option ID = 283]
4. 4 [Option ID = 284]

12)

Zinc powder is added to dilute hydrochloric acid in a test tube. What is expected to happen ?

(4)
B)
O
D)

N

3
4)

"

(
(
(
(1
(
(
(

Hydrogen gas is released

No reaction takes place

Test tube becomes cold
Rapid reaction takes place

(A)and (B)
(B) and (C)
(C) and (D)
(A) and (D)



TSieh (ST&T) WSS i WaETel! | 7 gL S § Sl T #1 B SUTE € 2

(A) TEEHH g sefs gt

(B) g sAfurferan =& &t |

(C) TEE! UL B T (I ) |
(D) e s g |

(1) (A) T (B)

(2 (B) ¥R ()

3 (© 311?( )

(4 (A) SR (D)

[Question ID = 72][Question Description = S17_Science_Q072]
1. 1 [Option ID = 285]
2. 2 [Option ID = 286]
3. 3 [Option ID = 287]
4. 4 [Option ID = 288]

3) Identify the following in the context of digestion.

A Gets broken into simple sugars

B Gets broken into glycerol

C  Breaks into simpler amino acids

A, B & C respectively are

(1) A-Fats, B-Urea, C-Proteins

(2) A-Urea, B-Fats, C-Proteins

(3) A-Carbohydrates, B-Fats, C-Proteins
(4) A-Proteins B-Urea, C-Fats

U= o Hed H Fefafen i v
A TEUHETH EEEg e ®

B fraaia d fasfeq g &

C e A e | fawfen g 2
A, B ATCHI: E

(1) A-=91, B4, C-HIEH

(2)  A-gfem, B-591, C-UrEH

(3) A-FEIEESe, B-aHl, C-9RH

(4)  A-YIEHE B-gRA, C-aH

[Question ID = 73][Question Description = S17_Science_Q073]
1. 1 [Option ID = 289]
2. 2 [Option ID = 290]
3. 3 [Option ID = 291]



4. 4 [Option ID = 292]

'Y Following are some of the suggestions to save petrol/diesel. Identify the incorrect one :

(1) Drive at a moderate speed as far as possible

(2) Ensure that the tyre pressure is moderately low
(3) Ensure regular maintenance of the vehicle
(4) Switch off engine at red light

2ia/Stee St 99q & fore fFefafad F gema €1 S 98 76 € S9! UgEH Sife

(1) ot g2 deF Hya 81 HeAm TIfa ¥ e e

(2) =@ ghfeea # f& sfee § sa g s T G FH &
(3) @ =1 Frafaa va-wae giafeed w

(4) A S T IS WG TS

[Question ID = 74][Question Description = S17_Science_Q074]
1. 1 [Option ID = 293]
2. 2 [Option ID = 294]
3. 3 [Option ID = 295]
4. 4 [Option ID = 296]
1) Which of the following pairs is an example of tap root ?
(1) Maize, onion
(2) Carrot, potato
(3) Turnip, tapioca
(4) Potato, ginger

frefafad <€ § # @1 W 956 SIS 1 386 € 7
(1) HoRF, S

(2) TSR, oTE
(3)  wrersTH, U
(4) 3, IR

[Question ID = 75][Question Description = S17_Science_Q075]
1. 1 [Option ID = 297]
2. 2 [Option ID =298]
3. 3 [Option ID = 299]
4. 4 [Option ID = 300]

16)



Read the statements given below and choose the correct option :

Assertion (A) : Presence of starch in leaves indicates the occurrence of photosynthesis.
Reason (R) : Oxygen formed during photosynthesis ultimately gets converted to starch.
(1) Both (A) and (R) are correct and (R) is the correct explanation of the (A)

(2) Both (A) and (R) are correct but (R) is not the correct explanation of the (A)

(3)  (A)is true but (R) is false

(4) (A) is false but (R) is true

Trefafad suAi =1 ufen 9o wel faweq = ==a Fifsu |
afireRe (A) : Ul § W () 1 Sufeerfa wehrer Gy Fi S i < #1
HEOT(R) :  TEF GYOIUY F GHY S AT i = () ¥ ufefdd 8@ S €

(1) (A) 3R (R) S T& € 90 (R), (A) i Ha&l =& 7|

(2) (A) 3R (R) EF F& E T (R), (A) I Hel A7 & |
(3) (A) 9l 8 g (R) T

(4) (A) TeTd ¥ 9T (R) TR R

1[Q:J«;,tic_m |I|; =3ZJ?]][Question Description = $17_Science_Q076]

2. 2 [Option ID = 302]
3. 3 [Option ID = 303]
4. 4 [Option ID = 304]
'7) Which of the following statement/s is/are true ?
(A) Mustard, rose and petunia have unisexual flowers.
B) Corn, papaya and cucumber produce bisexual flowers.

C) The female gamete is formed in an ovule.

1) Only (A)and (B)

(
(
(D) After fertilization, ovary grows into a seed of the plant.
(
(

2) Only (A), (B) and (C)
(3)  Only (©)
(4)  Only (D)



Frefafas § & =9 T8 Fom T 82
A) i, TaE SR 923 (Petunia) % FE THET B € |
TeepT, Tt ST W % e syt gl 89 ¥

ol (D)

771[Question Description = S17_Science_Q077]
305]
306]
307]
308]

[Question ID =
1. 1 [Option ID =
2. 2 [Option ID =
3. 3 [Option ID =
4. 4 [Option ID =

18) Match the following :

Human & plant disease Causative microorganism
(A) |Citrus canker (i) [Virus
(B) |Polio (ii) |Bacteria
(©) |Malaria (iii) [Fungi
(D) [Rust of wheat (iv) | Protozoa
(1) (A)(iD), (B)-(), (O)-(iw), (D)-(iii)
(2 (A)-0), (B)-(i), (©)-(v), (D)-(iii)
(3)  (A)-(i), (B)-(iv), (CO)-(1), (D)-(i1)
(4 (A)(@v), (B)-(ii), (C)-(ii)), (D)-(3)
fireffad #1 i T
HE 27 el o SN | IR weR qeRsta
(A) |foga IR (i) |fersmg
(B) [diferar (i) [Sframy
Q) |wefen (iii) [
(D) |71E =1 T= (Rust) (iv) [wtram]
(1) (A1), (B)-(), (O)-(iv), (D)-(iii)
(2)  (A)XQ), (B)-(i), (O)-(iv), (D)-(iii)
(3)  (A)-(ii), (B)-(iv), (O)-(), (D)-(i1)
(4 (A)yGv), (B)-(id), (O)-(ii), (D)-(1)

[Question ID = 78][Question Description = S17_Science_Q078]




1. 1 [Option ID = 309]

2. 2 [Option ID = 310]

3. 3 [Option ID = 311]

4. 4 [Option ID = 312]

%) Identify the following on the basis of given information :
A are vascular tissues for the transportation of water and nutrients in plants
B are vascular tissues that transport food in plants
C  are tiny pores present on surface of leaves
A, B, C respectively are :
(1) A-Phloem, B-Xylem, C-Stomata
(2) A-Xylem, B-Phloem, C-Stomata
(3) A-Stomata, B-Xylem, C-Tracheae
(4) A-Xylem, B-Phloem, C-Tracheae

g TE EA & YR W fFrefataa #1 veem i

A Y H 5o ud et % 9iiees % fon Heed s g
B U Hogd e e ¢ sifer diei H e Tgaa € |

C Y4l = Hag W Suftyd gem fog 2 )

A, B, C AL ¥ ¢

(1) A-drvEre (FAIeH), B- €% (SEe™), G-

(2) A- 3% (STEEM), B-9vETE (Feed), C-3y

(3) A-Y, B- T (S5 ), C-Fagei!

(4) A- TE (STEEm), B-UVETR (FT), C-vargeel

[Question ID = 79][Question Description = S17_Science_Q079]
1. 1 [Option ID = 313]
2. 2 [Option ID = 314]
3. 3 [Option ID = 315]
4. 4 [Option ID = 316]

200 Which of the following statements is incorrect with respect to plant and animal cells ?
(1) Cell membrane is present in both animal and plants cells
(2) Cell wall is absent in plant cell while present in animal cell
(3) Plastids are present in plant cells only
(4)  Cytoplasm is present in both animal and plant cells

Foretfefiad e § @ el T Tye W B ¥ da § 58 T

(1) =hfomRT fereell wepedt oiR dieii <t & sufem &t €1

(2) e fuf Wl ) v ¥ srreR A & sfn Ty S § sefted 3 )
(3) ©TE Sheel Ui i iRl o sufted g €

(4)  FRrTEeT vy e i SR e § sofem 29

[Question ID = 80][Question Description = S17_Science_Q080]



1. 1 [Option ID = 317]
2. 2 [Option ID = 318]
3. 3 [Option ID = 319]
4. 4 [Option ID = 320]
21)
Which of the following sets of statements represent a correct understanding about nature of
science ?
(A) All scientific ideas are discovered and tested by controlled experiments.
(B) When a theory has been supported by a great deal of scientific evidence, it becomes law.
(C) Scientific ideas are tentative and can be modified or disproved
(D) Science is a creative field and scientists need imagination to carry out their work.
(1) (A)and (B)

(2 (B) and (C)
(3) (O and (D)
(4) (A)and (D)

o =t wepfa =1 W& wwm =i Frefafad § § s & w8 o1 9=y T8 < @ ?

(A) 9t Sanfres faem (SurEl) =1 FElE wEr grn den e g S |

(B) i o ferdt et (fagia) =1 <<t wen § d=ifer gl g wmefH foan 0 € @ 97 fem
(FTA) = SR |

(C) e foar srfam (wrifer) B € oI g Saiafta sie@n seElisa e s s €1

(D) fogm wF goross & 8 a1 S9ifeR Hl T FE  wEitead w0 % fau wer

1 G E o e o e
(1) (A) 3R (B)
(2) (B) ¥R (C)

(3) (O 3R (D)
(4 (A) ¥R (D)

[Question ID = 81][Question Description = S17_Science_Q081]
1. 1 [Option ID = 321]
2. 2 [Option ID = 322]
3. 3 [Option ID = 323]
4. 4 [Option ID = 324]

22)



Which of the following can be the objectives of doing detailed observation of flowers in grade 7 ?

(A) To identify flower parts

(B) To help instill a sense of empathy for plants

(C) To prepare students for understanding of pollination
(D) To appreciate diversity of flowers around

(E) To observe xylem and phloem closely

(1) (A), (C) an (E)

(2) (A), (C) and (D

(3 (A), (B), (C) an ( )

(4)  (A) (B) and (C)

frafafes 8 & 0 @@ (7) 997 9 Fel & e e F39 % Sevd 8 W § 7
(A) Eell % HF Sl GEFH HEAT |

(B) Ul & et maryfa =t e & 5H ° S § Werdr S

(C) 9Tl =kt T o fory famnfefar =01 dam &)

(D) STH-9TH % Gl ol fafaear 1 GEm &
(E) TR (V@) iR dvars (et ) 1 fshea § sraerss i |
(1) (A), (©) R (E)
(2 (A), (C) (D)
® @)@, 0Q 4R (E)
(4 (A), (B) R(Q)
1['Q1u<[ecs;[t)it¢i)or:] |I|; :382§]][Question Description = S17_Science_Q082]

2. 2 [Option ID = 326]

3. 3 [Option ID = 327]

4. 4 [Option ID = 328]

23)  Ethical validity in science curriculum means :
(1) inclusion of how concepts of science evolve over time.
( conveying significant and scientifically correct content.
(3) dilution of content as per the cognitive level of children.
(4) promoting the values of honesty, objectivity, etc.

Tamm wrez=at (urgawy) § Hifawes S & 39 T

(1) 3 faa =1 Geheoand 999 & @1y fasfad 2t & g9 guee
(2) fafere vd Sanfie &9 & we) forva a5g 1 =390 1

(3) =l % HIAFHSE WR % STER fawa 5% &l geh HE |

(4) Hemefed, aegfeedl onfe gedi o diearfed A

[Question ID = 83][Question Description = S17_Science_Q083]
1. 1 [Option ID = 329]
2. 2 [Option ID = 330]



3. 3 [Option ID = 331]
4. 4 [Option ID = 332]
24)

Ronak was given a task of watching the moon rise from his terrace for 15 days. Identify the correct
inferences made by Ronak based on his observations.

(A) Moon rises from the east always after sunset.
B) The time of moon rise varies from day to day.

C) Thesize of the illuminated part of the moon visible from earth increases after new moon day.
D) Earth blocks sunlight which results in phases of moon.

e T e T e e R SR S

1) (A)and (B)
2) (B)and (C)
3) (C)and (D)
1) (A)and (D)

U =1 wek 1 fean 7 ok 92 15 fom qeF erot =d @ ie 1 37d §U 2@ | UM B S T HE
ﬁ@ﬁf{lﬂerences)ﬁ%ﬂ%m%wwmm(ffm) ShioT |

(A) FarE % ve=m 9ig 9 ga 9 Feperar €1

(B) g frerer o1 wmd oAl for seerar w2 |

(C) 31HEY % gy gt 9 foard uea arel =ie % geiw YN 1 ST agal T&dl & |

(D) 9=t g % geRTel Bl Ifea wdt o forgen o =g & fEf s §)

(1) (A)eﬂ‘h(ﬂ)

(2) (B3R ()
(3) (O iR (D)
(4) (A) #® (D)

1['Q;.l?<§,lt;t?0r:1 I|I|:3) :383‘31]][Questlon Description = S17_Science_Q084]
2. 2 [Option D - 334]

3. 3 [Option ID = 335]
4. 4 [Option ID = 336]

25)

Tahriem wants to identify conceptual gaps in understanding of a topic in her learners of grade VIL
Which of the following strategy is best suited for this ?

(1) Observing practical skills

(2) Using concept maps
(3) Organizing quiz sessions
(4) Giving homework regularly



TE ey VI 33199 e 8 v favg 1 9ug 1 guerd ffsadt + 9g9 0 =9 2
frerfafad § & ®F G A gwh for Heen Sugsr §72

(1) IR RIE 1 TR HE
(2) HHEUA HETE 1 THA

(3) T G AT SATASH R

(4) frafga &9 3 Teedd &

[Question ID = 85][Question Description = S17_Science_Q085]
1. 1 [Option ID = 337]
2. 2 [Option ID = 338]
3. 3 [Option ID = 339]
4. 4 [Option ID = 340]

26)  Following are some of the views on open book questions for assessment :
(A) It encourages all students to read all books thoroughly and memorize them.
(B) It reduces fear of assessment in students.
(C) It gives full opportunity to students to explore the book.
(D) It doesn’t help to gauge the conceptual understanding of the student.
Select the view /views that align with the spirit of open book questions.

(1 (A) (B) (©), (D)
@ ), ©

(3 (A), ©) (D)

4) (©), D)

Siehet & forg gell g&ash wedl 9 Frefeafies 7d €
(A) T 8l (wuE) fomfeli st |t g&ehi 1 goia: (F99 ®9 §) g7 U6 %oy FH 6 fon
U e € |
(B) e fomnfei o Sfisher & 94 1 FH R <d B
() = fernfai &1 (qol) 1 <6 € g5ae =Rt e=awml % & fo)
(D) =@ feomnedl =1 HerearcHs 9 &1 919+ H SR T8l Hd |
q&F T bl (W) % WY GiRes H/Hdl o A IS

(1) (&), (B), (©), (D)
(2 (B) ©
(3) (A), ©) D)

(4 (©), D)
1[Q1m[e;;itg; |I|; =321?]][Question Description = $17_Science_Q086]
2. 2 [Option ID = 342]

3. 3 [Option ID = 343]
4. 4 [Option ID = 344]

27)



The following paragraph is taken from class VII science textbook - Discovery of silk.

“The exact time of discovery of silk is perhaps unknown. According to an old Chinese legend, the
empress Si-lung-Chi was asked by the emperor Huang-ti to find the cause of the damaged leaves
of mulberry trees growing in their garden. The empress found white worms eating up mulberry
leaves. She also noticed that they were spinning shiny cocoons around them. Accidentally a cocoon
dropped into her cup of tea and a tangle of delicate threads separated from the cocoon. Silk industry
began in China and was kept a closely guarded secret for hundreds of years. Later on, traders and
travellers introduced silk to other countries. The route they travelled is still called the ‘silk route”.”
What are the objectives of science teaching-learning that are fulfilled by including the above in the
textbook ?

(A) To develop a historical perspective.
B) To develop an appreciation of how incidents/ideas give rise to discovery of new things.
C) To develop a holistic understanding of science.

(

(

(D) To include fun element in science.
(1) Only (A) and (C)
(
(
(

o

2) Only (B) and (C)
Only (A) and (D)
4) (A), (B) and (C)

v
i

Frfafas Ty wan 9@ (VI #i fasr % TeEgss 9 fam e E - m w9

T 1 EIS e HHE A A6 € | T YT =i fhedd & SATEN, wue gei-2t
= W -G & 279 S § ST 916l SR o gl ohi il o aferd S sl SRR e @A
% foru =@ 911 9T A e fF 96 F R F i 6w w90 32 97 o <a
U 58-I (SRY $iR) SHeFeR FIFA T o | HAR T U FigA 3% 919 & el § o o)
Wik H F TSI 911 1 oS G 8 11 W ST A4 1 SRy geN SR Hel vl dh 39 del
TEErl ® T @ T e § @i ok enmfE | wm o= 29 | vafed e g get 4
TR AT AT off, 9 o ot ‘ foew w2 Fed £
foaam & srerae-sAfer & =+ | Sevg § foment ufd Swied o ueagses § HHEy & Wi g g 2
(A) Tfqerras ufges =i fowfag F0 F fau)
(B) =E w9y faesfaa &t o foru for S wemmedl/foamd = =2 awgell =1 @t &1 s feam)
(C) T =1 Hrehegane! (F99) 999 ol foshfaa o & fou |
(D) TouH H sHeqmeR T #l 9imfed wid & fag |
(1) %ae (A) 3R (C)
(2) %ad (B) 3 (C)
(3) e (A) ¥R (D)
(9 (A), (B) 3 (Q)
1[Q1u<[a;;it?; I||; =384:]][Question Description = S17_Science_Q087]
2. 2 [Option ID - 346]

3. 3 [Option ID = 347]
4. 4 [Option ID = 348]



28)

A grade 7 teacher organizes a debate on the topic of “Destruction of animal habitat due to
encroachment’ in her classroom. What is NOT the purpose of having these kind of activities ?

(D)
(2)
(3)
(4)

Helps in arriving at one correct opinion about the problem of encroachment.
Encourages children to put forth their views without fear of criticism.

Helps in developing multiple perspectives in children on encroachment.

Can be used in assessment of children.

Wk Hia (7) Aoit =t fafaren  Afaena o R 9= SiEl o grekfaes ard (Tere wum) @6 fases’ % faum
YT FR-faare o 31T He H STESE HT B 1 A 9 59 YHR i Aidraferi i i o 389 T8l 87

)
(2)
(3)
(4)

ST i ToeN % oY § UF 98 gq T Yo § el i § |

o aTIeir=FT % o % a= o1 faeRi R S e o fer remfed e g
stfesrmm == B ag-ufgedl @i fasrfad & o Herd & €

=i o Sfisherd H wAR foRd 5 Hehd B

[Question ID = 88][Question Description = S17_Science_Q088]
1. 1 [Option ID = 349]
2. 2 [Option ID = 350]
3. 3 [Option ID = 351]
4. 4 [Option ID = 352]

29)

Which of the following are the recommendations according to N. C. F. 2005 for the upper primary
stage science curriculum ?

B)
Q)
D)
1

‘\-B‘h—f

v
S’

(A)
(
(
(
(
(
(
(

4)

Relating science concepts to real life situations.

Giving direct information, definitions and descriptions.

Creating situations for students to construct their own knowledge.

Doing only extended learning and avoiding textbooks as much as possible.
(A) and (B)

(A) and (C)

(B) and (C)

(C) and (D)



Trefafad 5 1 &M =9, T2E Teg= 9, 2005 o ATER I e w1 &7 929 &
v

(A) =it St &t aiifafaal o wy fom Seheais il Heg T |

(B) Tedel T, fLemand ue i <)

(C) femnfof=i o forn wt wfifeerfet =1 gom o s & S 99 @ am |

(D) e fawfa siftrm se qen e §va & qiea sl 9 9= |

(1) (A) 3 (B)

@()mu

(3 (B)3R(C

(4) mmu

1[.Q:J?glt)lt(i)or:1 |I|; =_3852]][Quest1on Description = S17_Science_Q089]

2. 2 [Option ID = 354]

3. 3 [Option ID = 355]
4. 4 [Option ID = 356]

30)
Read the statements given below and choose the correct option :

Assertion (A) : Equity in science education means that all students regardless of cultural
background, ethnicity, gender or special needs have equal opportunity to learn
quality science.

Reason (R) :  The objective of science education is to prepare all students for a modern equitable
society.

(1) Both (A) and (R) are correct and (R) is the correct explanation of the (A)

(2) Both (A) and (R) are correct but (R) is not the correct explanation of the (A)

(3) (A)is true but (R) is false

(4) (A)is false but (R) is true

Frefafad ®oHi i 9feu g1 w& fasey &1 997 ifau |

sifusmes (A) : o foven & wwar = 27ef 2 € fo et feenfiai & urm sAent Hivghfas ey,
Tarrtaran, foim sigen fovrg enmavasmaed #1 vam ° W@ famn sepd fagm des &

HHA HIHLE |

®AOT(R) e foen 1 SR ® o weft femnfefl s snfe wrend v % e e
h AT |

(1) (A) 3R (R) EH1 9& € a1 (R), (A) &1 98 =men 2|

(2) (A) R (R) 21 TE & 997 (R), (A) 1 & =mEn =

(3) (A) 98 & g (R) T

(4) (A) T ¥ T (R) HE T

1[.Q1u¢[a;::>1;?0r:1 |I|; ==3<;c7)]][Question Description = $17_Science_Q090]

2. 2 [Option ID = 358]



3. 3 [Option ID = 359]
4. 4 [Option ID = 360]

Topic:- HIN_Q91-99_L1_P2_CTET

1)

e faw 71T TTRITYT SRt UEeRt U T U9 T ST S|

T GERfd H 7R iR fodt €, 7% eun sfaer €1 ot ghmed § Sueht W S el
1 & TE | T o ¥ 1 AR S H A YRR HY FHETd & S Uh-gH R Y § | S o e
T Tepfa 1 arei 6 fosha arell o TueE ol § | Uk 99 98 o1, 9d el & mea J i
T deart @a A Sl o | STsReEl ¥ 56 SR H wie sl & for sgd @ f | 3y e
F ARl 5 HelwRl i FHiSEA F TS T STU YaeAviier H1 REd e 9
319 99 95c T 1 ¥ed & g S @ B 1 setsife difem # famre o1 SR w1y 2
AR 1 g Eieh Hepfa W el Sl S @ g1 BAR wie el HISgHi 5 FHS H HHEied %

U % 43 H ot e # 1 v e w en wee e €1 oes e g6 et 4t
B, % 39! ST vl 21

STERTSTATOT o SRRl = @ik shenredi & Fid o791 A w9 faan?
(1) ik el i J9El i |

(2) e el % fa=e gegd e

(3) ik Fermnrl i T T

(4) T FHEARR I hiSAEAl Tl FHI |

[Question ID = 181][Question Description = S17_Hindi Content/Pedagogy_Q091]
1. 1 [Option ID = 721]
2. 2 [Option ID = 722]
3. 3 [Option ID = 723]
4. 4 [Option ID = 724]

2)



et fau 7T TTEIT9T SRt UgeRt U T W9 ol STt Gifit |

TR GeRa H ga e fodt €, 9% eu 3w 1 ot et H sueRt TR S Rl
1 & @ |eft 1 uH B TR <9 H A UHR 1 Hel © ol Ueh-GHL i U § | STTS g e
Ted HEHTA i SIS 1 foeh arell a%g THeH ol € | Ueh UHg 9% o1, 5@ el & mem | el
T deart ga N S o | SIsRmEmh ¥ 39 §) § @i swensd & fo 9gd wm ) 35 g
F eIl 3 HeRRl i FHieredl 1 UHe gu U HaeAviieral &1 U= aFeH 9r faam)
319 GHE aed T ¢ | S wH A S o @1 gereeife Hifea H fasred o SR st 7 )
AR %! 99 e HE&hd T BEl Bl S @ g1 gHR wlh el HISqHl 5 HHIe i WHEE 6
g % & H off % fomen €1 Terfaes fadnfoal o mew seer o 31 ol et g drden St
?, 9% 3T it v &

‘TR o TR et agg’ | o sy # 2
(1) Frpee wiRem g
(2) TR SIS A
(3) el HEH 9l yaeH
(4) UEYE H TG TE o

[Question ID = 182][Question Description = S17_Hindi Content/Pedagogy_Q092]
1. 1 [Option ID = 725]
2. 2 [Option ID = 726]
3. 3 [Option ID = 727]
4. 4 [Option ID = 728]

3)

et faw e wTerer it Ut U M uYE 1 S i)

ek HEhfa H TAE ol fodt €, 7% euw efaer © 1 oruet Sienetl | sHent HRer S Herhil
1 & 8 |eft 1 oy B BRI H A YRR i FeTl § Sl Ueh-gHL Bl T § | ST FE et
T HEHTA il SIS = fosh arell a%g THeH o € | Ush 90 9% 91, 59 fedl & mrem | iai
T deart @a G S o | SERmEm ¥ 39 §) ¥ @i swensd & fo 5gd w5 ) 35 g
F eifuentfidl 3 et @l FHieAgdl &) GHs g 70 GagAviert &1 qi=a eFe o) e
319 GHF Fed T €1 e wH A S o @1 e Hifea H fasen w1 S st 7
SR i Y9 Tieh H@pfa W eEl Bl S @ e BAR T hell HISAHI H FHIS 1 HHEATS R
g % & § off = faen &1 werfae fargmfst w e sene faan 1 ot e g e St
®, T SHE e e 2

TAh—GEhfd 1 gfderd =i kel T 2

(1) sfoemm =t g5l § 39 3ot e 2

(2) A AT sfiem fawe % el fomen S )
(3) S g a1 2

(4) sfremsrl g7 gfed €

[Question ID = 183][Question Description = S17_Hindi Content/Pedagogy_Q093]
1. 1 [Option ID = 729]



2. 2 [Option ID = 730]
3. 3 [Option ID = 731]
4. 4 [Option ID = 732]

4)

e fau 7T TTRITYT SRt UEeRt U T U9 Rl ST S|

TR SeRfa H gat uier fodt €, 9% eur sfaee 1 eruet dhmetl H sueRt Wi S hetsERl
1 & TE | T o ¥ TR W H A UHR HY FHd & S Th-gH R Y § | S Fe e
e Hepfa 1 areiR 6 fosha arell o THeE o § | U 99 98 o1, 9d (el &’ J i
T deart Ga g Sl ot | SIEReEmh ¥ 59 SR § wie swensdl & fo sgd wm e 38 guy
F ARl 7 HeRRl i FHiSAEAl F TS T SIU YaeAvierT %1 gREd 3 ar e
319 9 95c T 1 el & g S @ B 1 selsife difem # famrd o SR sty 2
AR 1 Y wieh Hepfa W el Sidl S @ g1 BAR T el HIgHi § FHS S HHEe
guTaE % a7 § off e T &1 o famfast w e Fee e 1 o o a e St
7, I% TS SAIfE fed 2

" STt Himst § gHeRT T R SRR H w@ifehd Ug ol T ST © 2
(1) W @k el U 9fif & %W & ¥
(2) SIS Al & HTER
(3) AT ST B A A |
(4) IS AT & HI Ah Fell |

[Question ID = 184][Question Description = S17_Hindi Content/Pedagogy_Q094]

1. 1 [Option ID = 733]

2. 2 [Option ID = 734]

3. 3 [Option ID = 735]
4. 4 [Option ID = 736]

5)



et T 7T TTR=IT9T SRt UgeRt s T W9 ol STt Gifit |

TR GeRa H ga e fodt €, 9% eu 3w 1 ot et H sueRt TR S Rl
1 & @ |eft 1 uH B TR <9 H A UHR 1 Hel © ol Ueh-GHL i U § | STTS g e
el HEHTA ol SIS 1 foeh arell a%g THeH ol € | Ueh 90 9% o1, 5@ el & mrem | el
T deart Ta g S o | SIEREmh ¥ 39 SR § @ Fwensd & fo 9gd w5 ) 35 g
F eIl 3 HeRRl i FHieredl 1 UHe gu U HaeAviieral &1 U= aFeH 9r faam)
319 GHE aed T ¢ | S wH A S o @1 gereeife Hifea H fasred o SR st 7 )
SR %! g S H@hid T BEl Bl S @ g1 gHR wieh el HISqHi 5 oI il WHEE 6
gy o & H oft Frg R &1 wefaes ferdmfoal o2 en were fn 71 ol when aH ergen St
?, 9% 3T it v &

& FYA FI TG L -

(1) awreiener e sga aifees g1 IR o B

(2) I HAY TH-E Al T T 6 |

(3)  sweRTvIET o erfereRfEl A Heeeiterar s ufted el fen
(4) soERTE difea § fagme &1 SR sfus 7

[Question ID = 185][Question Description = S17_Hindi Content/Pedagogy_Q095]
1. 1 [Option ID = 737]
2. 2 [Option ID = 738]
3. 3 [Option ID = 739]
4. 4 [Option ID = 740]

6)

et faw e wTerer it Ut U M uYE 1 S i)

TR HEhfa H TAE v fodt €, 7% euw Sfaer © 1 oruet inetl | sHent HRe S herhil
1 & 8 |eft 1 oy B BRI H A YRR i FeTl § Sl Ueh-gHL Bl T § | ST FE et
T HEHTA il SIS = fosh arell a%g THeH o € | Ush 90 9% 91, 59 fedl & mrem | iai
T deart Ga G S o | STEReEmT ¥ 39 §) § wreh sl & for 5gd wm ) 35 g
¥ eifuentfdl 3 el @l FHieAedl & UHe g ST9 YaeAviert &1 gi=a eFe ar o)
319 GHF Fed T €1 e wH A S o @1 e Hifea H fasen w1 S st 7
SR i Y9 Tieh H@pfa W eEl Bl S @ e BAR T hell HISAHI H FHIS 1 HHEATS R
g % & H oft % e @1 werfaes fadnfoal o2 mew weer e ¥ wlies et g drden St
®, T8 SO e ufEm 2

e § foRu HER Wie @ Seord g1 © e 51 wieh Fhensil w1 TR R gul ?
(1) efafasm
(2) e
(3) fred
(4) THER TF
[Question ID = 186][Question Description = S17_Hindi Content/Pedagogy_Q096]

1. 1 [Option ID = 741]
2. 2 [Option ID = 742]



3. 3 [Option ID = 743]
4. 4 [Option ID = 744]

7)

el foT 7T TE=IT9T SRl U@eht U T U9 ahl 3o ol |

e Gepfd § BAR UleR fodt €, 9% g Sfaer 81 A9 dieetl § SR |Ia T Swen
1 & 8 Teft 1 o B TR 29 F A YRR F1 FETl § S Ueh-gHL B T § | ST e et
Ted HEHTd il SIS 1 foeh arell 9% THeH ol € | Ush 0 9% o1, 19 fedl & meam ¥ ai
o deart Ta G S ot | STERmE ¥ 39 §) § wre sl & for 5gd wm R 35 g
F Al 3 werwil it HioTgdl Ht gHe g st Hageiiern 1 9 afe ar e
319 GHF aed T €1 e FH A S o @1 gseiseife Hifsa H fasre o i st 7
AR i Y9 Tk H@pfa T el Bidl S @l €1 BHR wiieh hell HIAH] H FHIS ] WA 6
FETeE % e F oft s foren 1 et faremfal o e sere T 1 @i e e S St
?, 9% SU&! I i 21

Trefafad 4 a9 =1 gfic 9 fua= v =t 9g=m =)
(1)  SAeRTraTit

(2) GHEpE

(3) HfeEal

W) PR

[Question ID = 187][Question Description = S17_Hindi Content/Pedagogy_Q097]
1. 1 [Option ID = 745]
2. 2 [Option ID = 746]
3. 3 [Option ID = 747]
4. 4 [Option ID = 748]

8)

el faw 71T TTRITYT SRt UgeRt U T W9 ol STl Sifi |

R Tepfa B ea gies fodt €, 9% eun efgee 1 sruet dheti H et TR S FAER]
1 & TE Wi &1 o §1 SR S H A UHT HY e & S Ueh-gH Bl YR § 1 S e e
Tedl HEHTd ol SIS o1 Tk arell a5 THeH ol € | Uk 90 9% 91, 519 el & med ¥ 6l
T deart @a gl Sl o | STEReEmh 56 §) H wieh shesd & fow Sgd wm e 3y gu
%F AR 7 FeFR 1 FHioAgal F TH g ST HagAuier 1 9i=T o ar fea)
519 THF Fed T § 1 e wE A S e @1 gerseife wifean # fawre s st 7
SR @l Ygft wiieh H&hid 9 el Bl S W 8| AR il shell HISEH] A HHIS i YRS
[YF F &3 ° ot 9 R & | et fammfadt o2 men swere f ¥ wles e 3 eren St
?, I% SUE! A niE &



[Question ID = 188][Question Description = S17_Hindi Content/Pedagogy_Q098]
1. 1 [Option ID = 749]
2. 2 [Option ID = 750]
3. 3 [Option ID = 751]
4. 4 [Option ID = 752]

9)

el fau 7T TTRITYT SRt UEeRt U T WY T ST S|

TR HEhfd § A Ui fodt §, 9% g9 SR €| AT Set] H $HeRT TS T sherhnl
%1 & 7 Wt 1 U § 1 AR S H A UhR I AT § S Ueh-GHL I U € | STl e Tt
e Hepfa 1 arei 6 fashe arell o TS o § | U 99 9% o1, 9d IS4l & HeA § Al
T deart @a N Sl o | SIsReEmh ¥ 39 §) § wie swensdl & for sgd e R 38 guy
F Al 3 Fwerwrl it FHioTgd w gHe gu ot Haeeiiern &1 9T ofw 9r fean
319 H9Y 95c T © 1 el & g S @ B 1 seleseite Hifsa # fagd o+ S sy )
AR o Y wlieh Hepfa W el Sidl S @ ¢ BHR Wi el HIAHI 5 WS H HHEE
e % &7 § off g T ¥ 1 o famfast w e Fere e ¥ i e a drgen St
7, 9 3T I uifdd 21

" Al g B ot € Wi o v w forar s Hehar ®

(1) Freefed s 2
(2)  Swferd sl €

(3) wdrcHIfed Tt € |
(4) drcHTEd St |

[Question ID = 189][Question Description = S17_Hindi Content/Pedagogy_Q099]
1. 1 [Option ID = 753]
2. 2 [Option ID = 754]
3. 3 [Option ID = 755]
4. 4 [Option ID = 756]

Topic:- HIN_Q100-105_L1_P2_CTET



" < ferw T T BT UGHT TP T WY T I AT
T S0 S F7-3 o L H |
S-S -7l SR =,
<Al - faeferar ger erft Teft-Tef,
& S S B TiE H e F |
Y S 8 T9-2 % HaL & |
g gF Hih 1 TR ST,
Fish! Faaan 3a, 781 foo, g9 |5 |
% 9 A 3T SERT SR
‘o we g el -
el STFEATR o 3 B fRan |

el o T o1 9 o w9 H gan # 2
(1) Hdeh o €9 7|

(2) ATHEHl % w9 H |

(3) il Al wyH |

(4) TR+ ®9H|

[Question ID = 190][Question Description = S17_Hindi Content/Pedagogy_Q100]
1. 1 [Option ID = 757]
2. 2 [Option ID = 758]
3. 3 [Option ID = 759]
4. 4 [Option ID = 760]



2)

et fou 7T STy i Ut I T WY T I St |
T 31 92 T2 F HaR % |

S-S a7t SR =edt,
<tarst-faefel gem ot el -,
EH S AT B e H el F |

Y &0 &S FH9-29 % Ha F |

Ug 3o ik ol TS STHIT,

At Tedem 31, 781 fees, gue F |
T2 TI9el 7 2T FEHF @R Hl

‘ot = gy =l -

St e o @i & fwar i

‘T a1e gy« # FE-| e sifiered gen € 2
(1) 99 94
(2) IUrEH
(3) A
(4) afed v
[Question ID = 191][Question Description = S17_Hindi Content/Pedagogy_Q101]
1. 1 [Option ID = 761]
2. 2 [Option ID = 762]

3. 3 [Option ID = 763]
4. 4 [Option ID = 764]

)
)



3)

et fou 7T SwTeiyr Rl Ut IR T WY R IO St |
T 31 92 T2 F HaR % |

AR 1Tl SR =,
e - faefrar ger et el -TTed,
WIEA S ST B e H e |

Y &0 &S FH9-29 % Ha F |

g g i ohl T SR,

At Tedem 31, 781 fees, gue F |
I 9 7 AN FEHL B Rl

‘o @ gy el -
St e o @i & fwar i

* ST~ ATt AR Sl o 31§ -

(1) At q®ME &1 T

(2) O gETd Her wl

(3) T =l 9% 8 TR

(4) U H TUER g4 98 ol
[Question ID = 192][Question Description = S17_Hindi Content/Pedagogy_Q102]
1. 1 [Option ID = 765]
2. 2 [Option ID = 766]

3. 3 [Option ID = 767]
4. 4 [Option ID = 768]



4)

et fou 7T SwTeiyr Rl Ut IR T WY R IO St |
T 31 92 T2 F HaR % |

AT~ ST A=A AR <,
e - faefrar ger et el -TTed,
g S S & A H W F |

Y &0 &S FH9-29 % Ha F |

Ug 3o ik ol TS STHIT,

At Tedem 31, 781 fees, gue F |
e T9a 7 AN FEHL B A

‘o @ gy el -
St e o @i & fwar i

a9 & AT T fRT oo TE gen €7
(1) HR A=A &S|

(2) fTasfFE gan o €1

(3) &= ot g |

(4) I3 T o §)

[Question ID = 193][Question Description = S17_Hindi Content/Pedagogy_Q103]
1. 1 [Option ID = 769]
2. 2 [Option ID = 770]
3. 3 [Option ID = 771]
4. 4 [Option ID = 772]



5)

et fou 7T STy i Ut I T WY T I St |
T 31 92 T2 F HaR % |

AT~ ST A=A AR <,
<tarst-faefel gem ot el -,
g S S & A H W F |

Y &0 &S FH9-29 % Ha F |

Ug 3o ik ol TS STHIT,

At Tedem 31, 781 fees, gue F |
e T9a 7 AN FEHL B A

‘ot = gy =l -
St e o @i & fwar i

‘ER I 7Y ¥ -
(1) FFoe &8 ge
(2
(3) UA: 3 % T e
(4) SIS & HIY Fehoht ATTAGT BT
[Question ID = 194][Question Description = S17_Hindi Content/Pedagogy_Q104]
1. 1 [Option ID = 773]
2. 2 [Option ID = 774]

3. 3 [Option ID = 775]
4. 4 [Option ID = 776]



6)

et fou 7T SwTeiyr Rl Ut IR T WY R IO St |
T 31 92 T2 F HaR % |

AR 1Tl SR =,
e - faefrar ger et el -TTed,
WIEA S ST B e H e |

Y &0 &S FH9-29 % Ha F |

g g i ohl T SR,

At Tedem 31, 781 fees, gue F |
I 9 7 AN FEHL B Rl

‘o @ gy el -
St e o @i & fwar i

FHreiY ¥ srperseal’ g gdie % ®U H § 2
(1) HEE e

(2) ¥ B Wi
(3) oAkl faIdH
(4 TG TEE

[Question ID = 195][Question Description = S17_Hindi Content/Pedagogy_Q105]
1. 1 [Option ID = 777]
2. 2 [Option ID = 778]
3. 3 [Option ID = 779]
4. 4 [Option ID = 780]

Topic:- HIN_Q106-120_L1_P2_CTET

1)
e foren & oI H et foven =ifq 2020 F ersian < fowa o @0 wE 2
(1) |41 9=3 &3Sl 7ream § 9 |

(2) T O HYE T UG (W) Y T HIGHISY/E ST e e
(3) Temmerl forer o o= ek 9eis (HISAH) i 919 % ®9 H HIGHH/EL Skl 9T El |
(4) former ® e o2 % Wit I F faw werE (werm) it a1 St et g v @

[Question ID = 196][Question Description = S17_Hindi Content/Pedagogy_Q106]
1. 1 [Option ID = 781]
2. 2 [Option ID = 782]
3. 3 [Option ID = 783]
4. 4 [Option ID = 784]



Y agemET #i frefefed Hif fem w9 § S s 2

guft == ot e fen wgem 4 g Bt € ol famer % o e o e S S # )
1) SEHYTETE ST g
2) T foreq
3) o d s st w1 e

(4) e foreqor =k frASE AT

1[Q:J<[e;tit9n |I|I.'; =718 ‘;]7][Question Description = S17_Hindi Content/Pedagogy_Q107]
2. 2 [Option ID = 786]

3. 3 [Option ID = 787]
4. 4 [Option ID = 788]

(
(
(

o 3 il - e 8
(1) T i oo il &
(2) T SR &GS §
(3) 1 HEST FH H AREH |t @
(4) v w1 fafy @t &

[Question ID = 198][Question Description = S17_Hindi Content/Pedagogy_Q108]
1. 1 [Option ID = 789]
2. 2 [Option ID = 790]
3. 3 [Option ID = 791]
4. 4 [Option ID = 792]

4)

ok ¥ Sl ST el TE e F g uni § et 9 e wod @ e & et 2
IREIfieE Y W S € | WS 6 99 Gl WRN ] fRE B9 H SE] S ?

(1) RIS 9o = shferr

2) &< - e ¥

3) @ fgurdt &

(4) A gmfeEs iferar §

[Question ID = 199][Question Description = S17_Hindi Content/Pedagogy_Q109]
1. 1 [Option ID = 793]
2. 2 [Option ID = 794]
3. 3 [Option ID = 795]
4. 4 [Option ID = 796]

5)

I 177

(1) g 9 1 feaiten
(2) =1ed fmim

(3) eI T IHRM

(4) 91eE 3Rl B GHF B

[Question ID = 200][Question Description = S17_Hindi Content/Pedagogy_Q110]



1. 1 [Option ID = 797]
2. 2 [Option ID = 798]
3. 3 [Option ID = 799]
4. 4 [Option ID = 800]

6) 5 . = ;
formef T F FE O G R W R S I g7

(1) SIS oa@T
(2) @ H IR IINH
(3) @A W WAl 3UFTH

) @A ] TAHE SUH
[Question ID = 201][Question Description = S17_Hindi Content/Pedagogy_Q111]
1. 1 [Option ID = 801]
2. 2 [Option ID = 802]
3. 3 [Option ID = 803]
4. 4 [Option ID = 804]
7)

T AT H SArRiiieR qel bl SR €A faer 27 S1e o WAy O SRt o AT o wee

ST N e ?
1)  wfsrarcHeR gL
2)  ETYUEH SR

) SEie ST foer

(3

(4) =R A fafy

[Question ID = 202][Question Description = S17_Hindi Content/Pedagogy_Q112]
1. 1 [Option ID = 805]

2. 2 [Option ID = 806]

3. 3 [Option ID = 807]

4. 4 [Option ID = 808]

8)

Th1ey Toreqo =1 A 3299 1 7
(1) A foan &

(2) 9T % dcE e

(3) @R =T faErE

(4) TEAT A1 SN TS

[Question ID = 203][Question Description = S17_Hindi Content/Pedagogy_Q113]
1. 1 [Option ID = 809]
2. 2 [Option ID = 810]
3. 3 [Option ID = 811]
4. 4 [Option ID = 812]

9)



el 1S o AL A FAET G S YRR SR 15 fog H 3qeRt 9rie weqd fohan &9 15 fasgsdi
%I IA-Jerel Fieh foemfeli ol fean ) fanfedi 3 o8 wraEd & YR W HH A1 E | ST
I A G F L@ E 2

(1) IeTe-goie SRl Al ST
(2) AT HEE g

(3) 9T % Tora ufaw™ 1 g
(4) SRR Y I FHAG FHE

[Question ID = 204][Question Description = S17_Hindi Content/Pedagogy_Q114]
1. 1 [Option ID = 813]
2. 2 [Option ID = 814]
3. 3 [Option ID = 815]
4. 4 [Option ID = 816]

10)

T S 3 e e i faae & e F iy et sreeier sifurm wfafafy o
1| Torenfeli o1 yeie favg § s &7 € o 9oft faudi 9 oftg snenfig vsg oier 591 81 39
JYNTH I 5 el ?

(1) e fogm oiR faam &g

(2) i s s st

(3) e o e § wweer faam i faem
(4) A H

[Question ID = 205][Question Description = S17_Hindi Content/Pedagogy_Q115]
1. 1 [Option ID = 817]
2. 2 [Option ID = 818]
3. 3 [Option ID = 819]
4. 4 [Option ID = 820]

11)

Frafafad 99 g 9&R & o@T & Sl ST ?

" T i TR ST T T A G R ¢ | 39 e o meAn SR St Wl il SnuR
FA1EhL 19 st =61 v ford 1

(1) FUATHS oA
(2) U3 T
(3) TEHIMIRlfeE eEH

(4) HETARHE TG

[Question ID = 206][Question Description = S17_Hindi Content/Pedagogy_Q116]
1. 1 [Option ID = 821]
2. 2 [Option ID = 822]
3. 3 [Option ID = 823]
4. 4 [Option ID = 824]
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[Question ID = 207][Question Description = S17_Hindi Content/Pedagogy_Q117]
1. 1 [Option ID = 825]
2. 2 [Option ID = 826]
3. 3 [Option ID = 827]
4. 4 [Option ID = 828]
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4. 4 [Option ID = 832]
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[Question ID = 210][Question Description = S17_Hindi Content/Pedagogy_Q120]
1. 1 [Option ID = 837]
2. 2 [Option ID = 838]
3. 3 [Option ID = 839]
4. 4 [Option ID = 840]

Topic:- ENG_Q121-128_L2_P2_CTET

1)

Read the passage given below and answer the question that follow :

Have you heard someone sing, “Happy Birthday to you--—'? If so, you are hardly alone.

(1)

It is perhaps the most familiar song in the English language with dozens of versions
sung around the world in many other languages. Millions of people sing and enjoy
the song every year. But the song has had a checkered history. While historians and
musicologists agree that its origins are clear- it dates back to the late 19th
century-what isn’t known is how the song happened to take on the form by which
it is known today.

The ownership over the song has been contentious for the best part of four decades.
This is, perhaps, not surprising. There is a huge financial impetus to lay claim to it.
There’s lots and lots of money involved.

The song’s origin can be traced back to two music-loving sisters in Louisville,
Kentucky, named Patty and Mildred Hill. Patty was a school teacher back in 1893
and Mildred was an accomplished pianist. Patty’s daily work involved teaching
songs to young children, patty became interested in developing the kind of songs
that children would find stimulating but would be simple enough for them to learn.
Patty enlisted Mildred to help create new compositions, which patty would test on
her students.

What began as “Good morning to all” appeared in the 1893 volume “ Song stories
for the Kindergarten.” along side other simple ditties. The Hill Sisters’ songs were
seemingly a big hit with children, as the melody’s popularity suggests.

In 1912, the song appeared in a volume by a firm, though without Patty and Mildred
Hill’s approval. This version contained the alternative birthday lyrics. By this time
Mildred Hill had died and the rights to their work had passed on to their sister,
Jessica, Jessica and Patty pursued legal action and finally won the case.

The tune of the jingle “‘Happy Birthday * was published in :

(1)
(2)
(3)
(4)

1893

late 20t century
1924

early 19th century

[Question ID = 301][Question Description = S17_English Content/Pedagogy_Q121]



1. 1 [Option ID = 1201]
2. 2 [Option ID = 1202]
3. 3 [Option ID = 1203]
4. 4 [Option ID = 1204]

2)

Read the passage given below and answer the question that follow :

Have you heard someone sing, “Happy Birthday to you--—'? If so, you are hardly alone.

(1)

It is perhaps the most familiar song in the English language with dozens of versions
sung around the world in many other languages. Millions of people sing and enjoy
the song every year. But the song has had a checkered history. While historians and
musicologists agree that its origins are clear- it dates back to the late 1 gth
century-what isn't known is how the song happened to take on the form by which
it is known today.

The ownership over the song has been contentious for the best part of four decades.
This is, perhaps, not surprising. There is a huge financial impetus to lay claim to it.
There’s lots and lots of money involved.

The song’s origin can be traced back to two music-loving sisters in Louisville,
Kentucky, named Patty and Mildred Hill. Patty was a school teacher back in 1893
and Mildred was an accomplished pianist. Patty’s daily work involved teaching
songs to young children, patty became interested in developing the kind of songs
that children would find stimulating but would be simple enough for them to learn.
Patty enlisted Mildred to help create new compositions, which patty would test on
her students.

What began as “Good morning to all” appeared in the 1893 volume “ Song stories
for the kindergarten.” along side other simple ditties, The Hill Sisters’ songs were
seemingly a big hit with children, as the melody’s popularity suggests.

In 1912, the song appeared in a volume by a firm, though without Patty and Mildred
Hill's approval. This version contained the alternative birthday lyrics. By this time
Mildred Hill had died and the rights to their work had passed on to their sister,
Jessica, Jessica and Patty pursued legal action and fina]]y won the case.

Patty Hill was a in 1893,
(1) teacher

(2) pianist

(3) song composer

(4)

song publisher

[Question ID = 302][Question Description = S17_English Content/Pedagogy_Q122]
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3. 3 [Option ID = 1207]
4. 4 [Option ID = 1208]

3)



Read the passage given below and answer the question that follow :
Have you heard someone sing, “Happy Birthday to you--—'? If so, you are hardly alone.

(1) Itis perhaps the most familiar song in the English language with dozens of versions
sung around the world in many other languages. Millions of people sing and enjoy
the song every year. But the song has had a checkered history. While historians and
musicologists agree that its origins are clear- it dates back to the late 19th
century-what isn't known is how the song happened to take on the form by which
it is known today.

(2) The ownership over the song has been contentious for the best part of four decades.
This is, perhaps, not surprising. There is a huge financial impetus to lay claim to it.
There’s lots and lots of money involved.

(3) The song’s origin can be traced back to two music-loving sisters in Louisville,
Kentucky, named Patty and Mildred Hill. Patty was a school teacher back in 1893
and Mildred was an accomplished pianist. Patty’s daily work involved teaching
songs to young children, patty became interested in developing the kind of songs
that children would find stimulating but would be simple enough for them to learn.
Patty enlisted Mildred to help create new compositions, which patty would test on
her students.

(4) What began as “Good morning to all” appeared in the 1893 volume “ Song stories
for the kindergarten.” along side other simple ditties. The Hill Sisters’ songs were
seemingly a big hit with children, as the melody’s popularity suggests.

(5) In1912, the song appeared in a volume by a firm, though without Patty and Mildred
Hill’s approval. This version contained the alternative birthday lyrics. By this time
Mildred Hill had died and the rights to their work had passed on to their sister,
Jessica, Jessica and Patty pursued legal action and finally won the case.

It is ironic that the author of the words "Happy Birthday’ song is not well known
because :

(1) life is unfair.

(2) of complicated copyright laws.
(3) the song is so popular.
(4) of the money involved.

[Question ID = 303][Question Description = S17_English Content/Pedagogy_Q123]
1. 1[Option ID = 1209]
2. 2 [Option ID = 1210]
3. 3 [Option ID = 1211]
4. 4[Option ID = 1212]
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Read the passage given below and answer the question that follow :

Have you heard someone sing, “Happy Birthday to you--—'? If so, you are hardly alone.

(1)

It is perhaps the most familiar song in the English language with dozens of versions
sung around the world in many other languages. Millions of people sing and enjoy
the song every year. But the song has had a checkered history. While historians and
musicologists agree that its origins are clear- it dates back to the late 19th
century-what isn't known is how the song happened to take on the form by which
it is known today.

The ownership over the song has been contentious for the best part of four decades.
This is, perhaps, not surprising. There is a huge financial impetus to lay claim to it.
There’s lots and lots of money involved.

The song’s origin can be traced back to two music-loving sisters in Louisville,
Kentucky, named Patty and Mildred Hill. Patty was a school teacher back in 1893
and Mildred was an accomplished pianist. Patty’s daily work involved teaching
songs to young children, patty became interested in developing the kind of songs
that children would find stimulating but would be simple enough for them to learn.
Patty enlisted Mildred to help create new compositions, which patty would test on
her students.

What began as “Good morning to all” appeared in the 1893 volume “ Song stories
for the kindergarten.” along side other simple ditties. The Hill Sisters’ songs were
seemingly a big hit with children, as the melody’s popularity suggests.

In 1912, the song appeared in a volume by a firm, though without Patty and Mildred
Hill’s approval. This version contained the alternative birthday lyrics. By this time
Mildred Hill had died and the rights to their work had passed on to their sister,
Jessica, Jessica and Patty pursued legal action and finally won the case.

How did the lyrics of ‘Happy Birthday’ become so popular in 1893 ?

(1)
(2)
(3)
(4)

Its words were very simple.

The author of the tune had passed away.
The school children loved the song.

The tune was published in a song book.

[Question ID = 304][Question Description = S17_English Content/Pedagogy_Q124]
1. 1 [Option ID = 1213]
2. 2 [Option ID = 1214]
3. 3 [Option ID = 1215]
4. 4 [Option ID = 1216]
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Read the passage given below and answer the question that follow :

Have you heard someone sing, “Happy Birthday to you--—'? If so, you are hardly alone.

(1)

Patty
(1)

(2)
(3)
(4)

It is perhaps the most familiar song in the English language with dozens of versions
sung around the world in many other languages. Millions of people sing and enjoy
the song every year. But the song has had a checkered history. While historians and
musicologists agree that its origins are clear- it dates back to the late 19th
century-what isn't known is how the song happened to take on the form by which
it is known today.

The ownership over the song has been contentious for the best part of four decades.
This is, perhaps, not surprising. There is a huge financial impetus to lay claim to it.
There’s lots and lots of money involved.

The song’s origin can be traced back to two music-loving sisters in Louisville,
Kentucky, named Patty and Mildred Hill. Patty was a school teacher back in 1893
and Mildred was an accomplished pianist. Patty’s daily work involved teaching
songs to young children, patty became interested in developing the kind of songs
that children would find stimulating but would be simple enough for them to learn.
Patty enlisted Mildred to help create new compositions, which patty would test on
her students.

What began as “Good morning to all” appeared in the 1893 volume “ Song stories
for the kindergarten.” along side other simple ditties. The Hill Sisters’ songs were
seemingly a big hit with children, as the melody’s popularity suggests.

In 1912, the song appeared in a volume by a firm, though without Patty and Mildred
Hill’s approval. This version contained the alternative birthday lyrics. By this time
Mildred Hill had died and the rights to their work had passed on to their sister,
Jessica, Jessica and Patty pursued legal action and finally won the case.

wanted to develop songs that were _ for her school students.
easy to learn

patriotic

based on film songs

based on folk songs

[Question ID = 305][Question Description = S17_English Content/Pedagogy_Q125]
1. 1 [Option ID = 1217]
2. 2 [Option ID = 1218]
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Read the passage given below and answer the question that follow :

Have you heard someone sing, “Happy Birthday to you--—'? If so, you are hardly alone.

(1)

It is perhaps the most familiar song in the English language with dozens of versions
sung around the world in many other languages. Millions of people sing and enjoy
the song every year. But the song has had a checkered history. While historians and
musicologists agree that its origins are clear- it dates back to the late 19th
century-what isn't known is how the song happened to take on the form by which
it is known today.

The ownership over the song has been contentious for the best part of four decades.
This is, perhaps, not surprising. There is a huge financial impetus to lay claim to it.
There’s lots and lots of money involved.

The song’s origin can be traced back to two music-loving sisters in Louisville,
Kentucky, named Patty and Mildred Hill. Patty was a school teacher back in 1893
and Mildred was an accomplished pianist. Patty’s daily work involved teaching
songs to young children, patty became interested in developing the kind of songs
that children would find stimulating but would be simple enough for them to learn.
Patty enlisted Mildred to help create new compositions, which patty would test on
her students.

What began as “Good morning to all” appeared in the 1893 volume “ Song stories
for the kindergarten.” along side other simple ditties. The Hill Sisters’ songs were
seemingly a big hit with children, as the melody’s popularity suggests.

In 1912, the song appeared in a volume by a firm, though without Patty and Mildred
Hill’s approval. This version contained the alternative birthday lyrics. By this time
Mildred Hill had died and the rights to their work had passed on to their sister,
Jessica, Jessica and Patty pursued legal action and finally won the case.

Read the following sentences,

(A)
(B)
(1)
(2)
(3)
(4)

The two sisters who wrote ‘Song stories for the kindergarten” were school teachers’
Children loved the Hill Sisters’ songs.

(A) is true and (B) is false

(A) is false and (B) is true

Both (A) and (B) are true

Both (A) and (B) are false

[Question ID = 306][Question Description = S17_English Content/Pedagogy_Q126]
1. 1 [Option ID = 1221]
2. 2 [Option ID = 1222]
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Read the passage given below and answer the question that follow :

Have you heard someone sing, “Happy Birthday to you--—'? If so, you are hardly alone.

(1)

It is perhaps the most familiar song in the English language with dozens of versions
sung around the world in many other languages. Millions of people sing and enjoy
the song every year. But the song has had a checkered history. While historians and
musicologists agree that its origins are clear- it dates back to the late 19th
century-what isn't known is how the song happened to take on the form by which
it is known today.

The ownership over the song has been contentious for the best part of four decades.
This is, perhaps, not surprising. There is a huge financial impetus to lay claim to it.
There’s lots and lots of money involved.

The song’s origin can be traced back to two music-loving sisters in Louisville,
Kentucky, named Patty and Mildred Hill. Patty was a school teacher back in 1893
and Mildred was an accomplished pianist. Patty’s daily work involved teaching
songs to young children, patty became interested in developing the kind of songs
that children would find stimulating but would be simple enough for them to learn.
Patty enlisted Mildred to help create new compositions, which patty would test on
her students.

What began as “Good morning to all” appeared in the 1893 volume “ Song stories
for the kindergarten.” along side other simple ditties. The Hill Sisters’ songs were
seemingly a big hit with children, as the melody’s popularity suggests.

In 1912, the song appeared in a volume by a firm, though without Patty and Mildred
Hill’s approval. This version contained the alternative birthday lyrics. By this time
Mildred Hill had died and the rights to their work had passed on to their sister,
Jessica, Jessica and Patty pursued legal action and finally won the case.

‘ditty as used in para 4 means

(1)
(2)
(3)
(4)

askill

name of a flower

a musical insttument
a short song

[Question ID = 307][Question Description = S17_English Content/Pedagogy_Q127]
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Read the passage given below and answer the question that follow :

Have you heard someone sing, “Happy Birthday to you--—'? If so, you are hardly alone.

(1)

It is perhaps the most familiar song in the English language with dozens of versions
sung around the world in many other languages. Millions of people sing and enjoy
the song every year. But the song has had a checkered history. While historians and
musicologists agree that its origins are clear- it dates back to the late 19th
century-what isn't known is how the song happened to take on the form by which
it is known today.

The ownership over the song has been contentious for the best part of four decades.
This is, perhaps, not surprising. There is a huge financial impetus to lay claim to it.
There’s lots and lots of money involved.

The song’s origin can be traced back to two music-loving sisters in Louisville,
Kentucky, named Patty and Mildred Hill. Patty was a school teacher back in 1893
and Mildred was an accomplished pianist. Patty’s daily work involved teaching
songs to young children, patty became interested in developing the kind of songs
that children would find stimulating but would be simple enough for them to learn.
Patty enlisted Mildred to help create new compositions, which patty would test on
her students.

What began as “Good morning to all” appeared in the 1893 volume “ Song stories
for the kindergarten.” along side other simple ditties. The Hill Sisters’ songs were
seemingly a big hit with children, as the melody’s popularity suggests.

In 1912, the song appeared in a volume by a firm, though without Patty and Mildred
Hill’s approval. This version contained the alternative birthday lyrics. By this time
Mildred Hill had died and the rights to their work had passed on to their sister,
Jessica, Jessica and Patty pursued legal action and finally won the case.

‘impetus’ in para 2 is used as a/an:

(1)
(2)
(3)
(4)

verb
noun
adverb
adjective

[Question ID = 308][Question Description = S17_English Content/Pedagogy_Q128]
1. 1 [Option ID = 1229]
2. 2 [Option ID = 1230]
3. 3 [Option ID = 1231]
4. 4 [Option ID = 1232]
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Read the passage given below and answer the question that follow :

(1) Facebook is a social network service and website, which was launched in 2004,
February by former- Harvard student of psychology, Mark Zuckerberg, and his three
college roommates and fellow students. He ran Facebook as one of his hobby projects
with some financial help from Eduardo Saverin. With its 900+million users, every
7.76'" person in the world has a Facebook account. It is the most visited page on the
internet. The most growing country on Facebook is Brazil.

(2) It became the world’s fastest growing company when it surpassed 500 million active
users in 2010. It became a global company producing millions in revenue, a lot of
larger media companies want to purchase it. Zuckerberg has always refused to sell
though some claim that an offer of $ 2 billion dollars was made.

(3) The idea behind Facebook is to make us feel connected all the time. However the
truth is quite different. Technology has made the fact of being alone seem like a
problem that needs solving. When young people are alone, even for a minute or
two, they feel need to connect, to get a facebook or on some other social network.
But in connecting online they end up feeling more isolated. Why ? Because by being
in constant connection, they lose the ability to feel satisfied with their own company.

(4) Facebook connects most of us to move closer to our friends and family, more than
we have ever been connected before. Yes, Facebook is a huge time sink. Many people
post useless stuff. And seeing too much of your friend’s life can make you jealous.
According to my friend Jane, because of lots of photos and information updates you
know what is happening with your friends all the time. It may lead to frustration
ultimately and you may end up feeling lonely. In fact, if you are lonely in real life,
you will be lonely online as well.

According to the passage, we should

(1) feel satisfied within our own self

(2) avoid using social network absolutely

(3) stay in constant touch with our friends online
(4) enjoy moments of loneliness in nature

[Question ID = 309][Question Description = S17_English Content/Pedagogy_Q129]
1. 1 [Option ID = 1233]
2. 2 [Option ID = 1234]
3. 3 [Option ID = 1235]
4. 4 [Option ID = 1236]
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Read the passage given below and answer the question that follow :

(

D

Facebook is a social network service and website, which was launched in 2004,
February by former- Harvard student of psychology, Mark Zuckerberg, and his three
college roommates and fellow students. He ran Facebook as one of his hobby projects
with some financial help from Eduardo Saverin. With its 900+million users, every
7.76th person in the world has a Facebook account. It is the most visited page on the
internet. The most growing counfry on Facebook is Brazil.

It became the world's fastest growing company when it surpassed 500 million active
users in 2010, It became a global company producing millions in revenue, a lot of
larger media companies want to purchase it. Zuckerberg has always refused to sell
though some claim that an offer of $ 2 billion dollars was made.

The idea behind Facebook is to make us feel connected all the time. However the
truth is quite different. Technology has made the fact of being alone seem like a
problem that needs solving. When young people are alone, even for a minute or
two, they feel need to connect, to get a facebook or on some other social network.
But in connecting online they end up feeling more isolated. Why ? Because by being
in constant connection, they lose the ability to feel satisfied with their own company.

Facebook connects most of us to move closer to our friends and family, more than
we have ever been connected before. Yes, Facebook is a huge time sink. Many people
post useless stuff. And seeing too much of your friend’s life can make you jealous.
According to my friend Jane, because of lots of photes and information updates you
know what is happening with your friends all the time. It may lead to frustration
ultimately and you may end up feeling lonely. In fact, if you are lonely in real life,
you will be lonely online as well.

Jane's attitude towards Facebook is :

(
(
(
(

1)

2)
3)
4)

hopeful
gullible
skeptical
thankful

[Question ID = 310][Question Description = S17_English Content/Pedagogy_Q130]
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Read the passage given below and answer the question that follow :

(1) Facebook is a social network service and website, which was launched in 2004,
February by former- Harvard student of psychology, Mark Zuckerberg, and his three
college roommates and fellow students. He ran Facebook as one of his hobby projects
with some financial help from Eduardo Saverin. With its 900+million users, every
7.76'" person in the world has a Facebook account. It is the most visited page on the
internet. The most growing country on Facebook is Brazil.

(2) It became the world’s fastest growing company when it surpassed 500 million active
users in 2010. It became a global company producing millions in revenue, a lot of
larger media companies want to purchase it. Zuckerberg has always refused to sell
though some claim that an offer of $ 2 billion dollars was made.

(3) The idea behind Facebook is to make us feel connected all the time. However the
truth is quite different. Technology has made the fact of being alone seem like a
problem that needs solving. When young people are alone, even for a minute or
two, they feel need to connect, to get a facebook or on some other social network.
But in connecting online they end up feeling more isolated. Why ? Because by being
in constant connection, they lose the ability to feel satisfied with their own company.

(4) Facebook connects most of us to move closer to our friends and family, more than
we have ever been connected before. Yes, Facebook is a huge time sink. Many people
post useless stuff. And seeing too much of your friend’s life can make you jealous.
According to my friend Jane, because of lots of photos and information updates you
know what is happening with your friends all the time. It may lead to frustration
ultimately and you may end up feeling lonely. In fact, if you are lonely in real life,
you will be lonely online as well.

The purpose of the passage is to :

(1) educate people.

(2) introduce Facebook.

(3) persuade people to join Facebook.

(4) inform people about Facebook’s revenue.

[Question ID = 311][Question Description = S17_English Content/Pedagogy_Q131]
1. 1 [Option ID = 1241]
2. 2 [Option ID = 1242]
3. 3 [Option ID = 1243]
4. 4 [Option ID = 1244]
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Read the passage given below and answer the question that follow :

(1)

Facebook is a social network service and website, which was launched in 2004,
February by former- Harvard student of psychology, Mark Zuckerberg, and his three
college roommates and fellow students. He ran Facebook as one of his hobby projects
with some financial help from Eduardo Saverin. With its 900+million users, every
7.76th person in the world has a Facebook account. It is the most visited page on the
internet. The most growing counfry on Facebook is Brazil.

It became the world's fastest growing company when it surpassed 500 million active
users in 2010, It became a global company producing millions in revenue, a lot of
larger media companies want to purchase it. Zuckerberg has always refused to sell
though some claim that an offer of $ 2 billion dollars was made.

The idea behind Facebook is to make us feel connected all the time. However the
truth is quite different. Technology has made the fact of being alone seem like a
problem that needs solving. When young people are alone, even for a minute or
two, they feel need to connect, to get a facebook or on some other social network.
But in connecting online they end up feeling more isolated. Why ? Because by being
in constant connection, they lose the ability to feel satisfied with their own company.

Facebook connects most of us to move closer to our friends and family, more than
we have ever been connected before. Yes, Facebook is a huge time sink. Many people
post useless stuff. And seeing too much of your friend’s life can make you jealous.
According to my friend Jane, because of lots of photes and information updates you
know what is happening with your friends all the time. It may lead to frustration
ultimately and you may end up feeling lonely. In fact, if you are lonely in real life,
you will be lonely online as well.

Read the following sentences :

We never feel isolated because of Facebook.

Because of social media we are no longer comfortable in our own company.
Both (A) and (B) are true
Both (A) and (B) are false
(A) is true and (B) is false

(A) is false and (B) is true
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Read the passage given below and answer the question that follow :

(1)

Facebook is a social network service and website, which was launched in 2004,
February by former- Harvard student of psychology, Mark Zuckerberg, and his three
college roommates and fellow students. He ran Facebook as one of his hobby projects
with some financial help from Eduardo Saverin. With its 900+million users, every
7.76'" person in the world has a Facebook account. It is the most visited page on the
internet. The most growing country on Facebook is Brazil.

It became the world’s fastest growing company when it surpassed 500 million active
users in 2010. It became a global company producing millions in revenue, a lot of
larger media companies want to purchase it. Zuckerberg has always refused to sell
though some claim that an offer of $ 2 billion dollars was made.

The idea behind Facebook is to make us feel connected all the time. However the
truth is quite different. Technology has made the fact of being alone seem like a
problem that needs solving. When young people are alone, even for a minute or
two, they feel need to connect, to get a facebook or on some other social network.
But in connecting online they end up feeling more isolated. Why ? Because by being
in constant connection, they lose the ability to feel satisfied with their own company.

Facebook connects most of us to move closer to our friends and family, more than
we have ever been connected before. Yes, Facebook is a huge time sink. Many people
post useless stuff. And seeing too much of your friend’s life can make you jealous.
According to my friend Jane, because of lots of photos and information updates you
know what is happening with your friends all the time. It may lead to frustration
ultimately and you may end up feeling lonely. In fact, if you are lonely in real life,
you will be lonely online as well.

The word “ isolated” in para 2 means the same as :

(1)
(2)
(3)
(4)

free
lonely
selfish

careless

[Question ID = 313][Question Description = S17_English Content/Pedagogy_Q133]
1. 1 [Option ID = 1249]
2. 2 [Option ID = 1250]
3. 3 [Option ID = 1251]
4. 4 [Option ID = 1252]

6)



Read the passage given below and answer the question that follow :

(1)

Facebook is a social network service and website, which was launched in 2004,
February by former- Harvard student of psychology, Mark Zuckerberg, and his three
college roommates and fellow students. He ran Facebook as one of his hobby projects
with some financial help from Eduardo Saverin. With its 900+million users, every
7.76'" person in the world has a Facebook account. It is the most visited page on the
internet. The most growing country on Facebook is Brazil.

It became the world’s fastest growing company when it surpassed 500 million active
users in 2010. It became a global company producing millions in revenue, a lot of
larger media companies want to purchase it. Zuckerberg has always refused to sell
though some claim that an offer of $ 2 billion dollars was made.

The idea behind Facebook is to make us feel connected all the time. However the
truth is quite different. Technology has made the fact of being alone seem like a
problem that needs solving. When young people are alone, even for a minute or
two, they feel need to connect, to get a facebook or on some other social network.
But in connecting online they end up feeling more isolated. Why ? Because by being
in constant connection, they lose the ability to feel satisfied with their own company.

Facebook connects most of us to move closer to our friends and family, more than
we have ever been connected before. Yes, Facebook is a huge time sink. Many people
post useless stuff. And seeing too much of your friend’s life can make you jealous.
According to my friend Jane, because of lots of photos and information updates you
know what is happening with your friends all the time. It may lead to frustration
ultimately and you may end up feeling lonely. In fact, if you are lonely in real life,
you will be lonely online as well.

‘Time sink’ in para 4 refers to something that consumes a great deal of time ina

manner.
(1) wasteful

(2) useful

(3) constructive
(4) Dbeneficial

[Question ID = 314][Question Description = S17_English Content/Pedagogy_Q134]
1. 1 [Option ID = 1253]
2. 2 [Option ID = 1254]
3. 3[Option ID = 1255]
4. 4 [Option ID = 1256]

7)



Read the passage given below and answer the question that follow :

(1)

Facebook is a social network service and website, which was launched in 2004,
February by former- Harvard student of psychology, Mark Zuckerberg, and his three
college roommates and fellow students. He ran Facebook as one of his hobby projects
with some financial help from Eduardo Saverin. With its 900+million users, every
7.76th person in the world has a Facebook account. It is the most visited page on the
internet. The most growing counfry on Facebook is Brazil.

It became the world's fastest growing company when it surpassed 500 million active
users in 2010, It became a global company producing millions in revenue, a lot of
larger media companies want to purchase it. Zuckerberg has always refused to sell
though some claim that an offer of $ 2 billion dollars was made.

The idea behind Facebook is to make us feel connected all the time. However the
truth is quite different. Technology has made the fact of being alone seem like a
problem that needs solving. When young people are alone, even for a minute or
two, they feel need to connect, to get a facebook or on some other social network.
But in connecting online they end up feeling more isolated. Why ? Because by being
in constant connection, they lose the ability to feel satisfied with their own company.

Facebook connects most of us to move closer to our friends and family, more than
we have ever been connected before. Yes, Facebook is a huge time sink. Many people
post useless stuff. And seeing too much of your friend’s life can make you jealous.
According to my friend Jane, because of lots of photes and information updates you
know what is happening with your friends all the time. It may lead to frustration
ultimately and you may end up feeling lonely. In fact, if you are lonely in real life,
you will be lonely online as well.

In the sentence ‘your friend’s life can make you jealous’ the word jealous is used as a/an :

(1)
(2)

(3)
(4)

[Question ID = 315][Question Description = S17_English Content/Pedagogy_Q135]
1. 1 [Option ID = 1257]
2. 2 [Option ID = 1258]
3. 3 [Option ID = 1259]
4. 4 [Option ID = 1260]

noun
verb
adjective
adverb

Topic:- ENG_Q136-150_L2_P2_CTET

1)

At what stages of schooling does the National Education Policy 2020 recommend the
study of classical and foreign languages ?

(1)
(2

(
(

3
B

)
)

Foundational stage
Middle stage
Foundational and secondary stage

Middle and secondary stages

[Question ID = 316][Question Description = S17_English Content/Pedagogy_Q136]
1. 1 [Option ID = 1261]
2. 2 [Option ID = 1262]
3. 3 [Option ID = 1263]



4. 4 [Option ID = 1264]

2)

Which of the following is NOT true of multilingual education in schools ?

(1)

All learners learn mother tongue / home language, state language, Hindi, English
and other languages.

All children learn through the medium of English during their secondary stage of
schooling.

Schools systems and states should make provision for learning of languages of learners
in school.

All children in school begin their schooling in their mother tongue and move on to
add many (at least) more languages.

[Question ID = 317][Question Description = S17_English Content/Pedagogy_Q137]
1. 1 [Option ID = 1265]
2. 2 [Option ID = 1266]
3. 3 [Option ID = 1267]
4. 4 [Option ID = 1268]

3)

A learner from Kerala moves to Lucknow. As her mother tongue is Malayalam and she
learns French as a third language. She learns Hindi very well from neighbourhood and
community. What is the difference between her learning French and Hindi ?

(1)
(2)
(3)
(4)

French learning is language learning and Hindi learning is language acquisition.
Hindi learning is language learning and French learning is language acquisition.
Both are language learning,

Both are language acquisition.

[Question ID = 318][Question Description = S17_English Content/Pedagogy_Q138]
1. 1 [Option ID = 1269]
2. 2 [Option ID = 1270]
3. 3 [Option ID = 1271]
4. 4 [Option ID = 1272]

4)

A teacher of class VII in her grammar class takes the grammatical item, voice and tense.
She provided them texts from their textbook reading in which the grammar item appears
and gave lot of practice to notice the item in natural discourse and practice to internalize
the item. At the end she drew their attention to the rules of voice and tense. What
approach to grammar teaching does she adopt in her class ?

(1)
(2)
(3)
(4)

Declarative grammar
Rule based grammar
Communicative grammar

Procedural grammar

[Question ID = 319][Question Description = S17_English Content/Pedagogy_Q139]
1. 1 [Option ID = 1273]
2. 2 [Option ID = 1274]
3. 3 [Option ID = 1275]
4. 4 [Option ID = 1276]



%) Which of the following is NOT an authentic text for language learning ?

(1) A tourist brochure for a hill station in India

(2) A translated poem from another Indian language
(3) A poem written by the teacher for her classroom
(4)  An extract from an epic written in 19" century

[Question ID = 320][Question Description = S17_English Content/Pedagogy_Q140]
1. 1 [Option ID = 1277]
2. 2 [Option ID = 1278]
3. 3 [Option ID = 1279]
4. 4 [Option ID = 1280]

6)
What is ‘Bhasha Sangam’ ?

(1) Government of India’s flagship programme for promotion of Indian languages in
school

(2) Government of India’s flagship programme for promotion of foreign languages in
school

(3) Government of India’s flagship programme for promotion of Indian culture in school
(4) Government of India’s flagship programme for promotion of classical languages in
school

[Question ID = 321][Question Description = S17_English Content/Pedagogy_Q141]
1. 1 [Option ID = 1281]
2. 2 [Option ID = 1282]
3. 3 [Option ID = 1283]
4. 4 [Option ID = 1284]

' Which one of the following statement is NOT true about a language classroom ?
(1) A noisy class means a class has involved learners in learning.

(2) A disciplined class is one where learners sit quietly and teacher teaches well.
(3) Think, pair, share are the ways to engage the whole class in an activity.

(4) A teacher makes learners to role play the story.

[Question ID = 322][Question Description = S17_English Content/Pedagogy_Q142]
1. 1 [Option ID = 1285]
2. 2 [Option ID = 1286]
3. 3 [Option ID = 1287]
4. 4 [Option ID = 1288]

8)

A teacher of class VIII divides her class into groups of four and assign reading tasks which
involves reading, consulting a dictionary, summarizing, note making and so on. What
are these skills known as ?
(1) Study skills
(2) Study habits
(3) Group study work
(4) Reading to writing
[Question ID = 323][Question Description = S17_English Content/Pedagogy_Q143]
. 1 [Option ID = 1289]
. 2 [Option ID = 1290]

1
2
3. 3 [Option ID = 1291]
4. 4 [Option ID = 1292]



" What typology of question the following question come under ?

“Why do you think the narrator walked out of her home ?”
(1) Informative questions
(2) Inferential question
(3) Extrapolative question
(4) Emotive question
[Question ID = 324][Question Description = S17_English Content/Pedagogy_Q144]
. 1 [Option ID = 1293]
. 2 [Option ID = 1294]

1
2
3. 3 [Option ID = 1295]
4. 4 [Option ID = 1296]

10)

Children from tribal and minor language background enter school with their mother tongue.
They are made to study in a language medium which not their mother tongue or familiar
languages. This leads to

(1) subtractive bilingualism

(2) additive bilingualism
(3) mother tongue based multilingualism
(4) language loss

[Question ID = 325][Question Description = S17_English Content/Pedagogy_Q145]
1. 1 [Option ID = 1297]
2. 2 [Option ID = 1298]
3. 3 [Option ID = 1299]
4. 4 [Option ID = 1300]

11)

Swat is a teacher of class VIII and she collects the errors of learners and discusses once
in a week without mentioning who commits such errors. What does she attempt to do ?

(D

(2) She provides feedback to her learners.

(3) She is teaching grammar through the errors of learners,
(4) She corrects the mistakes of learners.

She does an error analysis of learners.

[Question ID = 326][Question Description = S17_English Content/Pedagogy_Q146]
1. 1 [Option ID = 1301]
2. 2 [Option ID = 1302]
3. 3 [Option ID = 1303]
4. 4 [Option ID = 1304]

" Which of the following would you suggest as ideal for teaching of vocabulary ?

(a) Giving the meaning of words in isolation.

(b) Translating the meaning of words into Indian languages.
(c) Creating word web and collocation of words thematically.
(1) (a), (b) and (c) are correct

(2) (b) is correct

(3) (c) is correct

(4) (a) is correct



[Question ID = 327][Question Description = S17_English Content/Pedagogy_Q147]
1. 1 [Option ID = 1305]
2. 2 [Option ID = 1306]
3. 3 [Option ID = 1307]
4. 4 [Option ID = 1308]

13)

A learner of class VI is unable to read a longer texts. She reads sound of letters and adds
to make a word. Which of the following would you suggest her to improve her reading ?
(a) To read the spelling first and then the sounds.

(b) To read the whole word as a word not as individual letters.

(c) To have more practice in the same manner.

(d) To listen to someone reading out and then read on her own.
(1) (a) and (c)

(2) (b) and (d)

(3) (@) (b) and ()

(4) (d) and (a)

[Question ID = 328][Question Description = S17_English Content/Pedagogy_Q148]
1. 1 [Option ID = 1309]
2. 2 [Option ID = 1310]
3. 3 [Option ID = 1311]
4. 4 [Option ID = 1312]

" “Continuous’ in Continuous Comprehensive Assessment implies
(1) Assessment of all activities of learners in and outside the classroom.
(2) Period assessment of learners’ performances.
(3) Formative and Summative assessments.
(4) Assessment of teaching of teachers and learning by learners.

[Question ID = 329][Question Description = S17_English Content/Pedagogy_Q149]
1. 1 [Option ID = 1313]
2. 2 [Option ID = 1314]
3. 3 [Option ID = 1315]
4. 4 [Option ID = 1316]

15)

A teacher of class VI gives the following task to her students. Which of these tasks is
authentic ?
(a) Recite a poem on rainy day from the textbook.

(b) ~ Writea letter to the Municipal Commissioner complaining about water logging during
the monsoon season.

(1) (a) and (b) are authentic tasks.
(2) (b) is an authentic task.
(3) () is authentic task.

(4) Both (a) and (b) are not authentic tasks.

[Question ID = 330][Question Description = S17_English Content/Pedagogy_Q150]
1. 1 [Option ID = 1317]
2. 2 [Option ID = 1318]
3. 3 [Option ID = 1319]
4. 4 [Option ID = 1320]








